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D000 EXCELOOODODODOOOO CSvV*iooooooo0oooooonoooooon
OOEXCELO CSVOOOOOOOOO APPENDIXODODODOOO

oo o0oo boob oobb oobog

94 473 272 65 131
95 484 278 67 138
96 502 286 74 142
97 504 283 79 137
98 500 285 75 134
99 503 285 75 137
0 515 287 81 141
1 509 289 78 137
2 514 291 76 139
3 524 293 82 137
4 534 296 86 137

*2

(O0)D -00 -0000000000000 20 OOO 2006

*1CammaSepararedVaIllIEDDEIDDDDI:IDDDDDDDDDDDDDDDDDDDDDDDD
20000000000 numericrecipedata.ijs0 000 0000000000000 00000OO0O0O
goooooooooboooboooooobooooooooooooooo
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require ’'files csv plot’

] DN10=. ".@> readcsv ’/data/excel/stat_j/csv/ban_1l.csv’

00000 /data/excel/stat_j/csvO00000O0O00O0O

1.11 OO0

0000000000000 000000EPSIEMFOOOOOOOOOOOOOO
goo

350 —

3001 —

2001 —

| | | | |
1994 1995 1996 997 1998 1999 2000 2001 2002 2003 2004

011 GDPCPIP

plot |: 1 2 3 puc DN10O
pd ’eps /temp/ban_0.eps’ NB. output plot files to /temp folder

(tempO O QOQOQOQ)

Joogog
000000 OO0O000000000000000O0O0O0O0OoOoooooo

*3 CSV Camma Separated Valled D 00000 (000O0)000O0EXCELOOOO CSVOOOOOO
oo

“0000000000000000000000,1,2,30000 000000 01,23.0000100
000 ooo0o0o0oo o0000 0D0000O0ODOO0OD010000O00D000ODO0OD0DUOODODOO
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function

name

Usage:

puc

pickup column

0 1 puc DN10
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rec remove column 2 3rec DN10

pucl pickup column(1 orign) 12 pucl DN10

recl remove column (1 orign) | 3 4recl DN10
ooo “".format-0O0O0 OOOOC": ".e>00000O0

0000000 »>openBoxdOO <O BoxO

requre OO0O00OO0OO0OOOOOOOOOOO

readcsv csvO O OO OOO0O0O OO0 requirefilescsvOOOO0O
plot OOOOOO

pd plotdriverD0 000000000

eps UOOOOOOOOOOOOOOOO



1.2 Matrix divide

1.2 I Matrix divide

000000000000 UdUU00 (AR ODODO0DUOU0U0D0DO0O0OoOUOOUOnD 3000
goooooooooooooooo
00000000 %. 000000000000 matrix—DivideO OO K.E.lversonO

goooobogoboooooon
*5

ooo
ooo regx=: 3 : "({:"ly ) %. 1,.}:"1y "’
Ordinaly Least
Square

OLS

ooo
Polynomial polyl=:4 : 'y %. (:i. #y ) /i. > x’

oooo
Auto Regression ar@=:4 : ’(x }.tmp) %.|.C"D}: >x <\ tmp=:y -(+/%H)y ’
AR

1.3IDDDDDD

131 oLsOboognog

googad googd
(vi] |1 Xu [yi] |1 X1 X1 o Xa
Yo 1 X2 Yo 1 x2 X2 -+ Xe
Y=1Y3| > 1 X y=1vs| , 1 X3 X3 -+ Xa
-yn i »1 X]_n_ _yn ] »l X]_n X2n e an_

gbobogobogoboobboobbooboboooboooboobboobo

(XX)B =Xy

B=(XX) Xy
Jdodoogoooooouoooooooa
, Xy _y
XX)IXy=—2=2

XXXy = 2% = X

*SAPLODOODODODOOOOOODO
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ooo

goooobogooboog

y
O XOOO1loooogo
1, .X
m Working Example 00000000000
DN11

XO0O0O0OOoOOoOOoOO cm
YOOOOO (%)OO0000
000000000 O00000000000000Mm

0000000 KXOOOoOOoUooooooooooouooooooooooooao
o000y Oo o g
0000000000000 K.E.lversonO matrix—divide(%.) DOOOO

ooooo
y Y
0000 X.YOOO [X000000010 | 3 -
oooooooo oooo 000 % 000000000000
DN11 1,.0 puc DN11
y % . 1, X
X Y 15.6
——————— 15.8 (1 puc DN11) %. 1,. O puc DN11
5.6 30 1 6
5.8 26 16.2 _5.01128 6.03383
6 33 16.4
reg® DN11
6.2 31 16.4
_5.01128 6.03383
6.4 33 16.4
6.4 35 1 6.6 y = —5.01128+ 6.0338%
6.4 37 16.8
6.6 36
6.8 33
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m Script reg0

regf=:3 : O
NB. select trend d ata or multi data
if. 1=+/ * $y do. reg_ty
elseif. do. regx y end.

)

reg_t=:3 : y %. 1,. > 1. #y°’

regx=:3 : '({:"ly ) %. 1,.}:"1y"’

0000000000 00000000000 XO0OO100o00Oooooooo

doodooooodood
: Xy |y
XX)ixXy= Y Y
XXXy = % = X
({:"1 DN11) %. {."1 DN11
5.23401

y = 5.23401x

012 00000000000

s (000 0OU00O0O0O0OO0O0OOOOOO regexamadU reg0 0000000000
*7

* opoo Xooo YOOUOOOOOODOOOOOOOreg_tO0OOOODOregOD DN11OOOOOO
gooooooOregx000O0O0OOO0OODODO
*7DDDDDDD(DD)DDDDDDDDD JOooooooo
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reg® reg_exam_ad DN11

+-—-——- R e e +
| £f= [_5.01128 6.03383]

e oo +

|corr=:147.8237 | OOOQO

+-—-——- R e e +

|AIC: |18.8684 | AICODOODOD

fomm - oo +

[DW=  |2.17534 |00000/000000
+---——- R e T +

[ t= [_0.33633 2.53299|0 t 0O

- Fomm e +

0000000000 000000000000 linefitregQOOOOOOO
gobooboooobuoobpbooboooboobbooboo

linefit_reg® DN11

pd ’eps /temp/reg_0.eps’ NB. Save

013 Doooooooooo

Joogog

o0 oooopobobobbbooooooobobobobobbooooooooo

goog

: 00

00000 .00000000i3—-01203001:3—-»_3_2_10123

1000 »>:1000.0<:1000

0000 %. matrixdivideOOOODOOOOOOOODOODODOOoOOO
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O0yOdtooOdOo kOoOooooQoQoQo

y =Coo+ Cort + - - - + Cout“ + €

O000oo000oo0oooooooooooooooooooooboooooooooo
ogoo

So St o Sk el [T4]
Si S22 - Skn cal [T
S2 Sz 0 Sk2| |l [T
»SK Sk41 - Sok | | Ck | ,Tk_

gbooboobogoboobboobboooboobobuoobbooboooboon
000000000000000000000oooOO®

mExample 0000 2000000000
y = 4.89554+ 1.13288& — 0.141456¢ + 0.00438882%3

3 poly® DN12
4.89554 1.13288 _0.141456 0.00438882

4 linefit_poly® DN12

000000 DODODOODOOOOOOO0OOOOODOODOODOO100D00000000
good

3 poly® 107. 20
_11.2 17.6678 _3.75583 0.227855

fx=-112+ 176678 — 3.75583¢ + 0.227855¢

X,.a=10 7. 20 X0 01230

Q00000000 0000000000000000
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gooogon

1
4
9
16
25
36
49
64
81
10 100

O 0 N O v b W N =

. #a) /i > 3

1

8

27
64
125
216
343
512
729
1000
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151 AROODO

0000000 (AR -Auto Regressive Modell D 00O O0O 0000000 OCOO0OO
ggodooobobobobbobobobbobtbddddooooooooouoob oo

MODODODO  AROODOODOODOODOODOODODOODOODOOOOODOOOOOOOO
goooobogboooobooobooboboooboobooog

[ S Sz - S| [ | [Ti)
S12 S22 -+ Sk b T,
S13 Szs -+ Sx bs | =| T3

| Sik Sk - Sk | L bk | | Tk |

0000000000000 Yull-WalkerD OBurkD OHouseholded DD OO OO
gooooooooooooo00000yUUUU g

*9

O000000000000000000 (DN12)DO0DO0oo 300000oooo0o
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1. X1, %2, X3, %n 0000000000000 0 (X)OOOO
2.000000000 ()00000000000000000000000000
000000

y

S.YDDDDDD XO0Oooooooooooooooooooooooooo

goo

o 0o 0o 0O
NRY

30000

Y, Xt-0, Xt-1, Xt-2, Xt-3

O 00 N O v & W N =
N o
N © U1 = O LT NN VT D

10

(3}.DN12),.}:|."1 >3<\DN12

Y | %1 X2 %3
34 0 0 0 | cut
55| 34 0 0 | cut
77 | 55 34 0 | cut
102 | 7.7 55 34
85 102 77 55
76 | 85 102 77
101 | 76 85 102
115|101 76 85
69 | 115 101 76
2 69 115 101
107|102 88 7.2
108 | 107 102 88 | cut

inifix(\) 00ODO0OO0O00 XOO
godogoooooobobooon
000 Box<) O infix(\) D OO
Oper(>) 0000

X1, %2, %3 00000000
00000 Rotatg.”l) 0O 00O
YOOOOOOoooooooo
ooooooooooooooo
o30000o00o

000 1000000000
ooobooobombooboo

[. "1>3<\ >:i.5
321
4 3 2
543

gobogobogoboonbog
000000000 (%.)oO0O0O
googn




15 0000000 AR

AlCOOOOOOO
mil = - "X t0gQu/(n - k)
NC:—ZQMLL+2xk=(n—@x(b@@ﬂn—@)+2xk
ARDODDUODOOAICOODUOOOODDUOOO kooooooooO

4 exam_ar® DN12
T e o +
|[mean=6.904 | corr=0.546834|AIC=41.4362|

Fomm - oo mmm - T +

3 exam_ar® DN12

Fommmm Fommm - Fommmm - +

|[mean=6.904 | corr=0.536786|AIC=41.5126|

Fommmm Fommm - Fommmm - +
5 exam_ar® DN12

o Fommm - Fommmm - +

|mean=6.904 | corr=0.56474|AIC=41.7886|

e Fommm Fommm oo +
4 ar® DN12

0.973496 _0.548562 0.232687 0.0641936

40000000
0.97349@, — 0.548562;, + 0.2326813 + 0.0641936;4

4 linefit_ar DN12
pd ’eps \temp\ar_0.eps’

m Coffee Brake /0 0000 0O00000DO0OOOOODOO 40000000000
goooobooboboobobooboooboobboobooobooobooonoo
goboobboooobooooooooboooooobobboooobbboooooobobooo
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BC2000U OO OODOODODOOODGRODOOODODOOOODODOOOODODOOODOOODO
gbboobbogobuoobbuodobbooboooobaon
gooooboobooob ---b000o0oboobboobobo

1.6 I HRERERE
000D -000 | reg
reg.examad reg0 regexamad n
estimreg0 estimregO n
linefit_reg0 linefit_reg0 n
ooood poly0o
poly_exam 4 poly_exam n
linefit_polyO 4 linefit_poly0 n
oooo ar0 m arQn
examar0 m examarQO n
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goboobogoboobbooboooboobbooboooboon
goboobobooobooooboonon

2.1IDDDDD

211 00O
gooooboooboobboobbooboooog

Ja=: >: i.10
12345678910

oo 0o Script Example

1
oooo ﬁzi”:lxi
am=: +/ % # am a
5.5
am2=: # %~ +/

oooo | "YITL X gma

gm=: # %: */ 4.52873
Oooooooooo=/
oooUooooooooo
ubobooboobooooon
gooogoo

25
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020 000000

googd

tva hm=: am &.(%"_)

dooooooooooao
goooooao

hm a

3.41417

X+ X
common | My/—m——

mean cm=:[: {.(Cam,gm)":_

good
U

gbbooboooboo
cma

5.00257
gooooobod

(1
P35 shix)

212 000O0OOOO

cobooooboobobooood

00000000000 ((yy—‘)“—l)xloo
t-1

ooooooooooo
qtr_grow 1 1.02 NB. 1 1.02
8.24322

00001000 102000000000 82%

Script
gtr_grow=: 3 : 100 * <: "&4 %/|. y’
NB. e.g. ul 1.02

NB. exchange rate of growth from quarter to year

mJ0Q00og

000000 00000000 (rotatel.)00O0O0OO

%/1. 1 1.02
1.02
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4000 ‘4
1000 (<:01000)

<: "&4 %/|. 1 1.02
0.0824322

00000 (xtimeg

100 * <: "&4 %/|. 1 1.02
8.24322

gbooooboobooa
gooboooboobbooboooobooboon
000 %0000000

oooooo “\/X;”‘—lxloo
t

m Script

grow_ave=: 4 : 100 * <: (x %: %/ |. ¥’

00000
1.0000000000000

%/ |. 504827 539160 NB. GDP 1995/2000
1.06801

2500000

5%: %/ |. 504827 539160 NB. GDP 1995/2000
1.01325

3.100000

100* 5 %: %/ |. 504827 539160 NB. GDP 1995/2000
101.325

m Working Example

5 grow_ave 504827 539160 NB. GDP 1995/2000
1.32463 0000 1.32%C
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020

gooogn

10 grow_ave 469567 539160 NB. GDP 1990/2000
1.39161 0000 (1.39%)

oooo-ocoooog
gbobodbbooboooboobobuoobobooboooboo

DN20

1.25 1.4 1.07143 1.06667 1.125

gm DN20
1.17608

m Working Example O00000O0O0OOOOOO

year 01 02 03 04 05
% 42 125 63 73 134

DN21
1.042 1.125 1.063 1.073 1.134

gm DN21
1.08681 0 NB. 8.67% per year

gbobog-000oobogn

000 kmOOOoOoOoOO
000 kmOOOOO km | hm 30 40 60
0000000 kmooO | 40 = —
OO0 kmOOOOODOOOO 120
kmOOO kmOOOGOQO | 3 % +/ 1r30 1r40 1r6®
goboooobgoon 40
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mJOO0O0O0g o
i oooOooOOoOOoUOOOoOoOoOooDO

> 10000
* X oon
% + oon
square 20
%: square— root 000000 nOO
{. From oooooooooooog
- infinity ooo
- child ogoooooooad
"1 Rank 0o000ddooooooOooD looooooogoo
“ power oooood
&. under ooo
y 000
| . Rotate doooooobooooobooooooooo
/ Insert Ooouo(@Qoo)oooooooooo
<: Decriment 1000
& goad O0o00o0oooooooo@o)yooo
r o0 1r3D}

3
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2.2IDDDDDDDD

gooooboboooooon

200000 1000000 0=

Yoo
gooooooooooooooooooobooboobooooooooboooboboobooo

03000000000000000000000000000D0DO00O0O0OO00000
gobooboobobooboooon

- 2. Ptdo
Laspiress
P 2. Poo
Parshe 2 PiCk
ooo 2. PoCt
Fischer 2 Pl X 2 P
2. Po%0 2 Podo
O
DN22
AOO BO

ooooooono
e t--——- +
| 75 50|60 70| NB. O00O0O
| 85 48|55 72| NB. O 10
| 95 46|52 75| NB. O 20O
| 105 44|48 80| NB. O 30

tom— - o= +
oboobooboobooboobooo

DN22=:(75 85 95 105,. 50 48 46 44) ;60 55 52 48,. 70 72 75 80
0000000000000 0000000000000ooooooOo0n)

1sp_chain® DN22

1 1.01887 1.05535 1.08302 NB. OO 0O 10 O20 O30

par_chain® DN22
1 1.01515 1.04025 1.04444
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fis_chain® DN22
1 1.01701 1.04777 1.06356

m Working O Example 00000 100000000

DN23=:13 170 15 155,52 49 55 41,13 89 14 85,51 57 53 53,41 55 35 57,:45 33 48 31
DN23=: (’’;1 0 1 ® )<;.1 DN23

DN23

2000 O O 2005

oo0oooooo
+-—mm- +-——m- +

[13 17015 155| NB. Cabbages
[52 49|55 41| NB. Spinachs
[13 89|14 85| NB. Napa

[51 57|53 53| NB. Leek

|41 55|35 57| NB. Lettuce
|45 33|48 31| NB. Broccoli

- it +
OO00ooooo 200 20 140

lsp DN23
Las: Par: Fis:
103.654 103.209 103.431

2005000000000 oooooooU00oooooDoooooOogoooooo

2.2.1 Script

lsp=: 3 : 0

NB. Calc Laspi Parshe Fischer

PO QO P1 Q1’=: {;("2),. |: L:0 vy

las=.(+/ P1 * Q0)% +/ P® * QO

par=.(+/P1 * Q)% +/ PO® * Q1

fis=.%:(las * par)

’ Las: Par: Fis:’,: 9j3 ":100 *(las, par ,fis )
)
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020 000000

m Laspeyres Etinne Laspeyrgd834-1913)

Lass-pey-resS 000000000000 0OO0OOOOOODOOOOOOOOOO
ood

0000000000000 00b00000O00000000000 260000000
0000000000000 1871000000 M Wikipedial O O

n { take gopboooboobooooboo
mJOOogonog ’Las’ character goboooboogooboobooon
1235 ": format 000000000 (120000 50)

2.3IDDDDDDDDDDD

231 00O

gobooboooboooboobboobooobuoobbooboooboon
goobooooboogno

X—X
gogg _ Oooooogoooooo

1/%z(x—@2 oooo

xO0OOODOOOO cm
yooooo (% 000 DN24 stand DN24
0OQ 5.6 30 _1.7781 _0.843274
5.8 26 _1.22628 _2.10819
6 33 _0.674453 0.105409
6.2 31 _0.122628 _0.527046
6.4 33 0.429198 0.105409
6.4 35 0.429198 0.737865
6.4 37 0.429198 1.37032
6.6 36 0.981023  1.05409
6.8 33 1.53285 0.105409
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gbooboobooobooboboobboobooobooboboobooobooo

goooobogoobooboboooboonoo
gboobooobogoboobooboobbooboooobm

"key fruits water’plot |: stand DN24
pd ’eps \temp\kanaya_02.eps’

021 00000 ((@O)oooooo

Script

stand=: dev % "1 sd

dev=: -"1(+/ % #)

sd=. %:@var

var=: # %~ ([:+/[: *: dev)
mJOQO0000

square 20 (f2000)
%: squareroot 200 (V)
-"1(+/%#) X—X ag

[: Cap

gobooobooobooboboobo
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020 000000

232 OO0OOO

googg
X—X

- (+/%#)

gobooboooboooooboonboo
gbobogobogoboooboooo
Oooooooooooo@oooo

ooo)

233 00O

goboobbooobooobooobo0obbooobuooboboobboooboon
oo UUU o
0000 ed0d00000O000OOOOlOgOD INODOODOO00O0JOOOOOT. 00O
gbooboobobobobobobobobobuobobobobobooog

".100
" 4.60517

" 4.60517
100

oo
& =x
logx=y

1x1
2.71828

JO 1x10 ed0OOO
gobooobogn

". DN24

1.72277
1.75786
1.79176
1.82455
1.8563
1.8563
1.8563
1.88707
1.91692

w W w w w w w

3.4012
3.2581
.49651
.43399
.49651
.55535
.61092
.58352
.49651
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~

naturellog 0OOO0 -00000 10 *. 100 is 2
mJOQOQOQga - g " 4.60517 is 100
Ix1 e ed000O0O0O0OOO0OO 2x1 1x2

234 0O0O0O0O

I X [I= \/<x-x>=\/x§+x§+---+xﬁDDDDDDDDD(DD)DDDD
000200000 100000000000000000 (Euclid0oDOO00O
0Dooo0O

googd

norm=: [: %: [: +/

aad
The length(or norm)o¥ is the nonnegative scalfw ||
HXHZVVW:mJﬁ+X§h"+ﬁ

IVIP=v-v

I x=yll= V0 -y1)2 + (2 = ¥2)?--- (X, —¥n)2 000 PQDODOOODO0O0
Example

1
v=1—220mmzva%1—2m2%1m=w@u=ﬁﬂw

euc_norm 1 _2 2 O
0.333333 _0.666667 0.666667 0

Script
norm=: [: %: [: +/ *:

euc_norm=: 3 : ' y. % norm y.’

m CoffeeBrake 0O OO0OO0O
J0odooooobobobobobobobboobobooddodooooooooooooon
O00000Ooooog John Napiefls50-1617) 000000000000 COOOO
OO0 164000000000 000000000DO00O0ODOOODOOODOOOOO
00000000000 el oooooooooboooo
00oodoooooobobooobbooooooooo
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020 000000

2.4IDDDDDDDDDD

gboobgobogoboobbooboooboobbooboooboooboo

241 OO0OOOO

gboboobbooboooboobobuoobobooboooboo
gbobodgbbogbobooboooodg

O
_ 1_,
oooog | x= ﬁzizlxi
ooog Z(x_.ﬂz ss=: [: +/ (*:@dev)
oo
mean=: +/ % # NB. am
dev=: - mean
2
X=X
oo Zl—ﬁ—]— var=:ssk%#
Variance
2
X— X
oooo \/ZK—H—]— sd=: %:&(ss%#)
Standard
deviation
sd
ooon X vr=: sd % mean
Ooon 0o0ooooon

good
L3(x=x(y-V)

cov=:

dev=:

cov=:

#% ([ +/ [ */"1 dev)

-"1(+/ % #)
# % ([ +/ [%/ "1 (-"1(+/ % #)))

ooooo)




24 D0oO0OOoooooo

242 OJU00O0ODOOOOODODOO

goooobogobooboboobobooobooboboobbooboooboon

V(Xp+ Xo + -+ Xp) = XL V(X + 2 Zij CoUXi, X))

Sxx  Sxy sz]
V=| Sx Sy Sy
Six Sz Sz
Xy
x1 vyl
X2 y2
x3 y3
x4 y4
X1=X Y-y
Cztx_le(xl—i Xo—X . xn—i] Xo—X Yo-V¥
N Nlyi-y %-y . -V J| -X -y
X=X Y-V
l[(xn—%(xn—@ (Xn_)_()(yn_)_’)]_[XDDD ooo ]
"l G-N0-% h-No-% ) | Doo o0o00
Worked Example
000 ooooboood goooooo
0o odoogon
dev2 DN25 NB. (2)
DN25 NB. (1) 10 _10 _10 _10
145 30 60 70 _10 _5 0 _5
145 35 70 75 5 5 5 0
150 35 65 80 _5 0 0 _10
150 40 70 70 0 0 5 _5
155 40 75 75 0 5 0 0
155 45 70 80 5 0 10 5
160 40 80 85 5 10 0 10
160 50 70 90 10 0 _5 10
165 40 65 90 10 5 5 5
165 45 75 85
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020 000000

(]: dev2 DN25) +/ . *
(dev2 DN25) NB. (3)

googd nOO00O0On=10

((|l: dev2 DN25) +/ . *
(dev2 DN25)) % # DN25 NB. (4)

50 27.5 17.5 42.5
500 275 175 425 27.5 30 15 25
275 300 150 250 17.5 15 30 10
175 150 300 100 42.5 25 10 50
425 250 100 500
vartable DN25
50 27.5 17.5 42.5
27.5 30 15 25
17.5 15 30 10
42.5 25 10 50
Script
vartable=:# %~ |:@dev2 +/ .* dev2
+/ . 0* oo

mJOO0gono

| : Transpose 00O -0000O0O

243 000O00ODOOOO

coboooobboobooooobooboooboobooobooboooooo

1 1y I
R=]ryx 1 1y

Fzx Tzy 1
— (xy)
Pxy = T CouX.Y)
0]
XYDDOOO pxyy = ——>——
WX) - WIY)
Working Example
cortable DN25
1 0.710047 0.451848 0.85
0.710047 1 0.5 0.645497

0.451848 0.5 1 0.258199
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0.85 0.645497 0.258199 1

Script

cortable=: 3 : 0

ss=. [: +/ [ *: dev2
sd=. %:&(ss%#)

stand=. dev2@] %"1 sd@]

cortable=. #@] %~ (|:@stand@] +/ . * stand@])
cortable y
)
@ Atop oo0o0o0o0o0o0ooooooooon
mJOO0Q0Qag

-"1(+/%#) -"lishook OO0OO0OO0DO0O0OO0OO0OOOUOOOOOO
244 000O0OO

obooo0o,bo0obboo0oboobobooboo,bbooboobobooooboon
gboooob,0o0booboboobbooobooobobooboobo
goooddoooo,oggooooooooood —pooooddo

D000 R=[r|]RODOD R 0000 i, =

000 X0 X%O00000000000000000000000000000000
000000000000 000000000000000
DDDDR=%J

ROODODOR*OOOO r)
—rY

lijo= ——
! 'Vrllr“
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020 000000

googd

googon

o000 S500pD0000000
goog

DN26 O OO

O 00 00 Ooooo

198005 2854 17662
254020 5880 24208
290237 11995 30538
348839 19605 36568
452356 23490 48113

vl B W N =

cortable DN26
1 0.967571 0.997407

pcor_table cortable DN26
1 _0.414878 0.965817

0.967571 1 0.976533 | _0.414878 1 0.631025
0.997407 0.976533 1 0.965817 0.631025 1
O0o0ooooooooo 0.63
2.5 I 0oOod
ooo stand stand n
gogog OO0 mean
OO dev
OoQg var
ooog sd
o000 cov
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ooooood vartable vartable n
oooo cortable cortable n
ooood pcor_table pcor_table cortable n
oood am an? ami.1l0
oood gm gmi.10
oooo hm hmi.10
oooooooo | gtrgrow qtrgrow 1 1.02
ooo grow_ave 5 grow.ave 504827 539160
ogooooo
oooooooo | Isp Isp n

Isp_.chain0

par.chain0

fis_.chainO
000 norm

normn

2.5.1 Reference

gboobooboooboobboobbooboooobg

00000000000 [D000000oo0o0000]j]0o0o0oooooon 1985

0000 0000000oooooooO oooo 2000
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gooobogd

goboobobooobooboboobbooboooboobbooboo
goboobogoboobbooboooboobbooboooboon
gboboobogoboobboobooobuoobbooboooboon
0000000000000 0000D000000 AlcCO0oooooon
gobooobboobbooobboobbooonD -booobboooo
gobogoogoooo

s 00000000 0000000 Adrean Legendre 1752-1838) 18060 0 0000
O0000000000000000001777-1855)1 17950 000000000000
gboobooboobobobobobobobobobobobOoboOoboobooooooon
18090 0000000000 DO 18120 00000000000 O0OOOOOOOOOO
O000000000o0ooooooo0o000ooooooooooD 3000000000
1804000000

3.1IDDDDDDDDDDD

goobbooobobooboooooooboboooooboobbooo@oooobooog
goooobogbbooboon

n X XX ag Y
X X% Y || a |=] TxY
X TXoXy XX a > %Y
Yl 1 X]_ _ a Uz
Y, 1 X B= b U2
U Y = X = u= .

Yn 1 Xn u n

43
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I&ZI gooobgad

goboobbooobooobooobo0obbooobuooboboobboooboon
goobooboooo™@ooo -boopoboon

1.00 (g)0O0000
>e=0

2.0000 (X)0OO00O (g)0000 o000
O >Xe=0

3.0000000 (Y)OOO (e)0000 00
0 %Yig=0

00000000000 0000000000000000
w~N@Loc?)0DwlODO0OOD e 000000000

E(w=00tO0000O 0

EW)=cO0OO0000O00

E(wus) =00000000

000000000 (w)00D00000000000000000000000aga
oooo

:&3' googood

ooobooboboooboooboooboobooobuoooboobbooobboon
gobooboooboobobon

3.3.1 0000O/The Log Linear Model

goobooboboobboooboooboobboobooobooboboobooboo

goboobbooboooboopoboobbooobo

l.00000o00Doo0ooOo0ooOoU0ooooDoOooooooDoooooooog
0o

2. 0000elasticallyg OO Oelasticaly) 0 00 0000x0 1%00000000y
00 %00000000000000000duooooooouooooog((@
oooooobooboooobom
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O000000YXO000OOoOooooO %000000000000000000

goooobogbbooboon

day dy X
Model F lope= — | Elasticaly= — - =
ode orm Slope ™ asticaly X'y
oo
. X
Linear Y = By + ByX B, Bz(v)
. Y
Log-linear InY = B; + BoInX B, (Y) B,
oooog (Y = B1X®)
Log-linear InY = B; + BoX Ba(Y) B,(X)
ooooo (Y = eBr+BX)
1 1
Li -l Y = B; + BoInX B, [= B, | =
Inear-10g 1 + boln 2(X) Z(Y)
ogoono
1 1 1
Reci | Y=B1+B|= -B,|—= -B, | —
eciproca 1+ Z(X) Z(XZ) Z(XY)
oo

doddoooboooooooouooooooobooboooooooooon
000 oLsonoooooonooa
"ty )%, 1,.3:"1y”’

O000O0Odd Xg,.Xg,..--,.%,.YOOOOOOODDODOOOOODOD m{C"L),000O
0000 stich .+t

regx=:3 :

3.3.2 WorkedExample OO0 OOOOO0O (OO -0000000OO)

1980-20020 0000000000000 (LABOOOOO (DO 100000)0000
00000000000 (CAPOOOOO0DOoOooooooooooon

DMO=. ".@> readcsv jpath ’“user/classes/numeric_recipe/data/csv/morimune_0.csv’
DNOODOODOOoOOooooooo

X0=.*/("1) 2 3{"1 DMO NB. LAB
X1=:*/("1) 4 5{"1 DMO NB. CAP

Y=1{"1 DMO
X0, .X1,.Y

NB. GDP
NB. X,Y

*lstichOODDOO0OODOO K.E.lversonO0 OO
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(ooooo

DN27=: (*/("1) 2 3{"1 DM®),.(C*/("1) 4 5{"1 DMO®),.1{"1 DMO

X0OOOOoOOOOO xOoooo LAB
X10000 xOoOoooo CAP
YOOO GDP

DN27

X0 X1 Y

161085 243.736 68921
162379 245.976 72010
166040 244.122 75123
176496 250.127 77606
197495 259.415 83306

regd ~. DN27 NB. In
1.27786 0.7074 0.25785

ooog .

". DN27

X0

5.49609
5.50523
5.49767
5.52197
5.55843

InY = 1.27786+ 0.7074nCAP + 0.25783nLAB

reg® reg_exam_ad DDN27

Fomm - e ettt e L +
| £= [1.27786 0.7074 0.25785 |
tom— - - +
|corr=:199.3993

- e e e +
|AIC |_188.238 |
Fom— - o +
DW= |1.25405 |
- e i E LT +
[ t= [3.46684 53.2258 5.43342]
fom— - e +

0000 GDPOODOO 1%000000 0707%0000000 1%000000

X1
11
11

12.

12
12

. 9897
.9977
02

.0811
.1935

025%000000000000000t000DODO0O0OO

11.
11.
11.
11.
11.

1407
1846
2269
2594
3303
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LL L i I L I
1980 1985 1990 1995 2000

031 00opoooooooo

gbooboobooobooboboobbooboobobuoobbooboooboon
gbooooboooboobbooobooobooooon

gdddddooooouoouooooooooooobbobbbobobbbbbbbbn
00 0o0oboobobooboboobooobooooboooo

333 0JO00O0O0ODOOOOO

coboboooooboboooooboooooOooboooboobO0omuoobooboooon
oooooobooobooooono

n DX XX ag Y
X X% Yxx || a |=] TxY
X XXy XX a > %Y

O000000D0000000000000000D200000000000 (3x3)
0 Script0 0000 M

000000000000 0DDO0D0O0OOCcr=:%.}:"1

0000000oooooooooOo0oooooDoooD 10000

test_neq ~. DN27 NB. O0OO0O0O
23 287.256 126.409 265.19
287.256 3589.44 1578.54 3313.27

20000000 O0oLSOI0000NNN0NNNONNONONnOng
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0O 30

googogood

126.409 1578.54 ©694.887 1457.37

cr test_neq °~. DN27 NB. cramer method

0.999999 1.59432e_5 _1.36559e_5 1.27787
3.28967e_8 1 3.81732e_7 0.7074
1.38614e_7 _1.89109%e_6 1 0.257849

do0000doooooooooUoOo(@oood
*3

Iny = 1.27787+ 0.7074nCAP+ 0.25784InLAB

’key y vy’ plot (1980+i.23); |: reg® reg_estim_ad a
pd ’eps temp/mori_02.eps’

17—

| T T T T
1980 1985 1990 1995 2000

032 0000 GDPOOOOOOOO

2000000 000000000000000000 10000000000000000000000

000000 o00oO0oooOo0oOoUooOoOooOooo
goooo -/ . »Hooo0oooooooooobo

-/ . * }:"1 test_neq DN27
4.50787
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test_neg=: 3 : 0

TMPX=: }:"1 vy

TMPY=: {:"1 y

TMPO=: (# TMPY),+/ y NB. n sigba
TMP1=: +/ "&2 TMPX NB. x"2
TMP2=: +/*/"1 TMPX NB. x1x2
TMP3=: +/ TMPX * TMPY NB. xnY
L1=. TMPO®

L2=.(1{TMPO®), ({. TMP1), TMP2,({.TMP3)
L3=. (2{TMPO),TNP2, ({:TMP1), {:TMP3
L1,L2,:L3

)

3.34 WorkedExample OO0 O00OOOOODO

Warking Example 00000000 (1969-1994)

000000000 l100000oo0ooooooooooooooooooooooo
gooooooboooooobobooooooga

ddddoooobobbbbesvb0ooooogod

read_data® ’'’NB. adjust your data folder

DSO® NB. ] data

DN28 NB. define 3 4 7 2 puc DSO

DAT=: DN28 %("1) {. DN28 NB. Example data

reg® DAT
_3.10519 2.74842 0.860231 0.323955

f = -3.10519+ 2.74842; + 0.86023 X, + 0.323955¢;

reg® reg_exam_ad DAT
- e +

| £= |_3.10519 2.74842 0.860231 0.323955]
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030 00Ooooooo

A = P
yooo |
X, 00 |
0000000 |
xs 00000 |

033 0000000000000 oo
oOoooad
O T T +
|corr=:196.8057 |
N e T +
|AIC: |_109.527 I
O o o +
DW= |0.582066 |
R e +
lt=:  |_3.25926 2.56923 5.78009 2.88985 |
O T +

Source 00 000000000 O0ODO0OOO00OOOOO0O19960000)

3.4ItDD

000000000000 0Guinessbrewery O0,000000000 William Sealey
Gosett(1876-193M 00U 000000000 UDOOU0OOUOOOO Studentd OO
O00oOoooooo t-distribution0 t-00 OO0O0OO
0J0oooooooooobobobobobobooboooboooddooooooooooooo
dodooooooobobobobobbobbobobbbddddooooooooo oo
odooooooobobbobbbbbbbotdduduuoouooa

coboooobooboooobooupbO0O0OOO00ODbOO0ObOO00DbOOObOOO0Dn

ogod
_(n-uO

u/n

ooooboboooooobobbboooooobobobooo b obobobbooooo
gooboobobooobooobuooboboobboobooobooboboooboo
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William Sealey Gosset (1876-1937)

Oxford0 0000000001890 00000000
0000000019050 000000000 Pearsortd
0000000000000 O0oOo0OoDoDOoOOoOoOoo 1908
oooogooobobobobooooooooogoooo -o
0o0oooooooobooooooboooooooon
gooooobobooobboobobouooobboooon
oo go
o000 UUUUUgoo
gooooobooobbooobooooooooon
gbdbogdobboobboobbouooobbooooo
googon

httpy//www-history.mcs.st-
andrews.ac.yBiographiegGosset.html

0 3.4 W.S. Gosset (1876-1937)

x0 (0,13 0000000y0000Nn0 0000000

X
\/Q
n
D000 nOtOoOO0OO00
N(/J,O'Z)DDDDDDDD NnJ000D0D00000000000000000 xgoo

000 0000

x|
|
=

oooo0n-10tO00D0OOO

OO0O0OnOtobOODOO

fn(X) =

000 E[x]=0
n
00 V[{=——.(n23)
0000000000000 000000000000000

tbogooooooooooooboboooooooboooboobooobooooboboooon
t00o000n-20t00000O0
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030 00Ooooooo

*4

t000000000 330000000 UooooDoO 2000000000 1.70000
O00000000000000000MmMO000 5%)

t00000000000 000 151020304050708090100120000
tcdf0 EShowl 0 0000000000000 00O0O0OOOOODO

a=. steps ® 5 100 0 NB. from ® to 5 divide by 100 steps
plot a; ;("1D),.({@1 5 10 20 30 40 50 70 80 90 100 120) tcdf L:0 a

stepsll numericijs 00 0000000000000 00 5000 100000000
goooooogn

0O 3.5 tcdf X-axis is degree of freedom Y-axis is %

XO0O0O0O0OoOoyYooooooooooooy oo 9rs%oooooo 200000
0200000000000000000000

000500 t00 2009000000000 975000000000 95% 0000
0000 97.5%000000tedf00000000000O0OODOO0O

50 tcdf 2.009
0.975024

000000001900 000 «0 0.10.050.0250.010.0060 00000 t00O0OO
0000000000000 0000000000000000 0.950.9750.985 0.995
099750 0000000000000 00 0.900.950.9750.990.995k00)000O0

19 tcdf 1.729 2.093 2.433 2.861 3.174

000000000000 100000
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0.949988 0.974999 0.987488 0.995001 0.997502

t000000000000000000ts=-tbs J000t00 95%0 (95%0 0
00000 97.5%0 t000000

000000000000 t0000000000000000000000000
97.5%00 1.960 0000000000000 20000 t0000000000

3.4.1 p-value

goooooobooootobooooopbboooboobooboboon

p value(probability valuel -0 00000000

p-vaueOOOOOOODOOOO0O0D0O0DO0OO0DODODODODOODOOOOOOOOOOOOO
ooodooooooon

ooooooo (df) oo tvalueD 5.860000000t-tabled @ OO0 O 0.00100 O
504100000 tedf 000000 5.041000000 0O 0001000000000
000000000000 0.000189233 0000000 OO O'OZDD%OOODDDD
goooon

8 tcdf 5.86
0.999811

1- 8 tcdf 5.86
0.000189233 0 NB. p-value

3£5I/HC[]D[]D[H]D[]D

0000019270 00ooooooo
doddooooooooooooooooooboon
O0000000o00oooooOooooAICO0OO0O
goooobooboboooobobooobooooobo
000197220000 0000000000000 0OOO
googd

0 3.6 H.AKAIKE
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030 00Ooooooo

3.5.1 AIC

AIC(A/Akaike Information Criteria)( 0) 000 00000000000 OODOOO
od
00000000000 oAICO0ODODODODODODOODOOODOAICOO
godoooooobobbbobbooobbbbtbudddduooooooooobo
Joooooooooobobobobobobobbbobboddddooooooooooo oo
dodooooooobobobobobbobbobbbddddooooooooo oo
dodooooooooon

oooooooooooooooo

LL =logL = »}]_; log f(xi, 6)

00000000000 0LO00000DDOOO0000oD LLoboooooood
MLLODOODODO

ddddeeiddooooooooooooon

2= 511 l0gf(x,6) = 0

0000000000000 LLOOobOOobOOo e0OO0OOOOO
dddooooooobobobobooo

12
LL=ZLQ%%2+NDDDDDDD
o
DaIZIIZIDIZID 1
X —u
%LL:Zin:l 0_2 :_OTz[ZXi_nu] :O

00000 ud0000000000000
1

u= ﬁZin:j_Xi = M(x)

20000000000

o2 = %[z{;l(m- — 02 = V(¥)

352 00000 AICODDOOOOO

000000 Q=(y-Xb)'(y-Xb)=yy-(yX)b
AICOOO0DAICO0000000000000000000000000,00000
000000000 OoUoAlICO0OO0DOO0OOOoODOO,000000,00bD00o0o0ogon
goodoooooooooooo
0o0o0d0D0O0oo0o0oOooDOoo0O,00b00000D0AICO0D0O0O0D0DO0OO00OO0
regexamad 0 0000,0000 t-value AICOOOO0O00O0OO0

MLL = —(2/n)log(Q/n)AIC =: nlog(Q/n) + 2(k + 1)

gbobodbbogoboobobuogbboobooobuoobbooboooboon
0000000000 000000000000000D0000 AICO0OD0OO0O0o0oo
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godooOoooOoooooobwoo oooooogoo

3.6 I| oooouoooon

3.6.1 OOOOO

gbobooobogobuoobboobooobooboboobbooboooboon
gbooboogobogboboobbooboobobuoobbooboooboooboobn
ooooobogoo

Worked Example DO OO OO0 (1)
0 GDPO M2CD

DMN®=. ".@> readcsv DIRCSV,’minotani_1.csv’
DN29=: (i. # DMNO®),. ~. 2 1{"1 DMNO®

00000 (0000000 300]o0oooooono 1997

DN29
trend 1nM2CD 1nGDP(y) T . B
0 3.90657 4.32146 - ’ '
1 4.10935 4.41763
2 4.34661 4.5694 , .
3 4.52536 4.75974 wf |
4 4.6334 4.93052 o : 1
5 4.76311 5.02626 T 1
23 6.23655 6.16655
24 6.26131 6.17084 037 mDoov

00000000 GDPOOOO GDPM2CDOOODODODODOOOOODDOOOOOO
0000000000 0000000000 t0000

INNGDP = fo + 81T IME + S,M2CDAV

INNGDP = 0.493964- 0.017084T IME + 0.967544nM2C DAV

0000000 1%0000 GDPO 0.97%000000

DN29=: (i. # DMN®),. ". 2 1{"1 DMNO
reg® DN29
0.493964 _0.017084 0.967544
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T T T S Y S S S B S R
1970 1975 1980 1985 1990

O 3.8 GDPM2CD

*5

G

m WorkingExample OOOOOOCPOOOO

DN30=:DA0O=. ".@> readcsv DIRCSV, ’asano.csv’

gobooooog
O reg® (1{"1 DN3®),. (>:i. # DN30®) ,. 2{"1 DN30O
26.4252 0.0381768 3.5465

>:i.# aNB.OOOOOOOO (>:0100000
CPIl = 264252+ 0.0381769 XR+ 3.5465Y,

EXROODOOO
oooo regd ( % 1{"1 DN3®),. (>:i. # DN30) ,. 2{"1 DN30O
51.4814 _5487.67 4.42389

y = 514814— 548767(JEXR) + 4.42389Y,

goboogood
regd ( °. 1{"1 DN3®),. (>:i. # DN3O®) ,. . 2{"1 DN3®
1.50601 0.377514 0.0639988

y = In1.50601+ In0.377514+ 0.063998¥,

SO0o0o0o0000O0n0onnn
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oobooboooobooon
000000000 EXROODOOOOOODOOODOOOOOOODOOOOOOO

reg® reg_exam_ad ( % 1 {"1 DN3®),.(>:i.# DN30®),.2{"1 DN3O®

it e e e T +

| £= |51.4814 _5487.67 4.42389]

et oo +

|corr=:195.478 |

0 3.9 EXCCPI

gbobooobogoboobbooboboooboobboobbooboooboon
goooobogoboog
0000000000000 000000000D0D0O00O00O000 065000000

362 ODOOOO

gobogn

1.00000000O0000D000O,0000000D00000D00O00DOOoO00OOd
g, 0o0goobooobuooobooboboooboob,ooboooboooboo
g, 00dbbgogbooobooboboobo

2. 000000C000000O0DOO,000DDOOCOOO000OU0OODODDOOD
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030 00Ooooooo

0 3.10 using trend 0 3.11 nothing trend

gobgobooooboa,0boobbooboobbad

363 OOOOO

gbobooboboooobooboboobboobooobuoobbooboo

Cooooooooo | mkdummy x mkdummyty
googgo

0 Spring

1 Summer

2 Autumn

3 Winter

Cooocooooo | mkdummyl2 8 12mkdummy2y.
(Dooooo)

Worked Example
Canadad U0 000000000 COCU0OOOOODODOUOOUOUOOOOOOOOO
ooo

O DN31

36 44 45 106
38 46 47 112
42 49 48 118
42 50 51 118

Xmas
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gbooggbog

1 2 3 mk_dummy4 DN31

0000 36
1001 44
20 10 45

100 i 3100 106 NB. Xmas
4000 38
B0r 1 50 0 1 46
6010 47

or 7 7 100 112 NB. Xmax
8000 42
T 1 99001 49
10 0 10 48

&4 11100 118 NB. Xmas
0312 O0oOooodo 12000 42
13001 50
14010 51

151 0 0 118 NB. Xmas

s 0000 0O0O0OO04000000,0000000.0000000000O0O0DOO

ooooobogn

|: 123 =/012 30 NB. rotate identity matrix
000
100
010
001

XO0Oooooopooooo XOooooo.
00000000000000000000030000000000000

| = 3 mk_dummy® DN31
12345678910 11 12 13 14 15
00010001060 06 1 6 6 6 1

regd 1 2 3 mk_dummy4 DN31
35.6 0.65 72.05 6.95 7.1
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0O 30

googogood

linefit_reg® 1 2 3 mk_dummy4 DN31

*6

f = 356+ 0.65Q0 + 72.05Q; + 6.95Q, + 7.1Qs

20—

0313 Doooooooooo

reg® 3 mk_dummy4 DN31
39.69 0.734756 67.1972

linefit_reg® 3 mk_dummy4 DN31

f =39.69+ 0.734756); + 67.197)

20—

0314 DooOoooooooo

0oooooOo0000O00OnO



3.7 ACOODOODOOOooon

3.64 OJO00O0OODOOOO

gdooboobooobooboboobbooboobobuoobobooboooboon
goooobooboboobooobooboon

3.7IA|CDDDDDDDDDD

00000 AICOO0DOO0ODDODOO0DoOoOn
O0000000000AICO00000000 20000000 ESRICOOOOO
O000000)0d000000UduoooO (Leading Coinsist Laggedy 0000000
goooooooooooooa

0000000000 3200000000000000000000000000d
oo

32C10

10132=64512240 00 0000000000000 000000O000O0DOO00O0
000000000000 000000 AICO00D0D000D0O0oo0ogoSCRIPTOO
dodoooooao

ogoooooooooa

R=. sample_data ’’

0000000 (ROD 9UUOUUDOUUOO 9UUUUOOUO AICO (DOO
00000 100)

7

doooooooy,Xoooooooooooooad

sampledata” O Y1,Y2Y3ROOOOOOO

00000000000 XO0OoOoooooooooooooooooooooooo
0000000 ()0 rotated 0000

find.besODO AICOOOOODOOOOO

10{. find_best® Y1 compare 9;R
et e e e e +
110101110011 1/209.464]
e ettt L e T fomm - +
110101111010 1/209.542]

e e e e e T e e i +

7 00000000 numericreciprdataijs 0000 00 O numericrecipemainijs 000000000
gooooooobooooooooog
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030 00Ooooooo

findbesDOODOOODAICODOODDOOODOOOODOOODODOODOOOOOOOOO
ooooobobooboboooboooboooboon

findbestOOODODODOODODOOODOODOODOOOODOOOOOOAICOOOOOOOOOOODO
00000ChOnOOOOO outof-memoryD D0 0D 0OO0O0O0O0ODODOODOOLCLG
gbobgoboooboobobuoobbooboooboobobooboooboobn
goog

0070000 12000000 AICO00D0O0OOOO0O0OOOODODOOO

(7;12) find_best Y1; R
e et T e +
7111010106100 10 1/209.881]
e fommm - +
18 1110101110010 1/209.615]
o e - +
9 1110160111001 11[209.464]|
T e L L Fommm - +
[160]1 10101110111 1[/209.395]
o Fomm - +
[11]1 10111110111 1]/209.36 |
T ittt T Fommm - +

(121 160111111111 1[209.357]|
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3.8IDDDDD 0o

381 0O0OOO ()-ODODOoODOODODO

DurbinO 20000 00 000 O London School of Economics0 00 OO0
Ooooooogogooooo

gbbogobogobboobbuooobboobbuoooboono -obboob
googn

O00oOo00ooooooooooooo,ooooboooon
o 2@ - ey

Yale
m Worked Example O0O00O0OO00OO

DN32=. ".@> readcsv DIRCSV,’shirasago_0.csv’

200 —

IR I PR R I
0 5 10 15 20

0315 00000oooooooo

1970 239 300183 304 384| Y =0000O0000ODO
| 71 248 311|184 308 392|0 X = 00000000
| 72 258 329]85 310 400|
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030 00Ooooooo

73 272 351|86
74 268 35487
75 280 36488
76 279 360(89

78 285 370|91
79 293 37892
80 291 374193
81 294 37194
82 302 381]|

I
I
I
I
| 77 282 36690
I
I
I
I
I

312
314
324
326
332
334
336
334
330

403|00000000O00DOOODOOOOD
411
428
434 |
441
449
451
449
449 |

reg® 2 1{"1 DN32
50.8745 0.637437
y = 50.8745+ 0.63743'k&

reg® reg_exam_ad 2 1{"1 DN32

o e e e +
[50.8745 0.637437|

Fomm - Fomm e +

| £=

| corr=:197.5095

o= T +
[AIC |77.2247 |
+-———-- e it +
| DW= [0.352762 |
+-———- T +
[t [6.13607 30.0085 |

oO0o0OoOdtgooooooo bDwOoooOooooooooooooo
dw 2 1 {"1 DN32
0.352762

Dw OO

dw=: 3 :

0

NB. usage: dw y same reg®

TMPO=. estim_reg® y

TMP1=.
TMP2=.

({:"1 y)- TMPO® NB. ut
; /&l .

(L:®) 2<\ TMP1 NB. ut-ut_1

(+/ "&2 TMP2)% +/ "&2 TMP1

)
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gooboobogoboobboobbooobooboboobbooboooboon
000000000000 0DO00oooUooAICODWOOOOOOOoOOoOoooo
goo

320 —

310 —

290 —

280|— —

260|— —

250|— —

240, —

=0 | | | | | | | ]
300 320 340 360 380 400 420 440 460

0316 00000 (X)OooooOo YO

382 0000 (20000 -0O0D0ODOODO Cochrane-Orcutt(C-0O)
Method

00000000,000000000000,Cochrane-Orcutt Method O O .
goood

Yi = B1 + Lo X + U

ggad

Ut = pUt-16

1000000p0000

PYie1 = pP1 + pBaXi-1 + plr-1

gdodoooooooon

(Yt = pYi-1) = (1 = p)B1 + B2(Xt — pXi-1) + &

googogo

Yi = Y- pYis

X{k=xt—/0xt—1

B1=(01-p)B

By =2

goooooooon

Yi =B1 + X + &
YilO0O0OOO X10000dooooooooooooooo,0o00o0o0,0000



030 00Ooooooo

goooo.0ooooooooooon
C-O0 Method
O0ooooooo40000000o0oao.d cor|f=,81+ﬁ2X

4 co_method 2 1 {"1 DN32
Fommm - e it +
|0.850961]93.7563 0.535125]
Fomm - oo +
|0.832879]92.0731 0.538302|
Fomm - Frmm e +
|0.828025]91.5287 0.539413]
Fommm - e TR +
|0.826887]91.3968 0.539686|

o e +

o = 0.826887
Y, = 91.3968+ 0.539686X;

— co_methpd
— OoLS

3301~

3101

=0 | | | | | | | ]
300 320 340 360 380 400 420 440 460

0317 00000 (X)OOO (CoOLSI

Script
co_method=:4 : 0
NB. Usage: 4 co_method vy
NB. Cochrane-Orcutt Method by Giichiro Suzuki
NB. slightly modified M.Shimura
YY=. {|.|: v NB. slightly modified



3.8 00000 -0000

cor=: ([: +/ }. *}:) % [: +/ [: *: }:
mdy=: }.@] - [*}:@]

a=: ,.
b=: (x0=:>{.YY) %. yl=: 1,.y0=: >{: YY
while. x >#q

do. r=: cor ub=: x0-y1 +/ . * b
b=: ( r mdy x0) %. 1,.r mdy y0®
q=: q,r;b=: (({. b)¥%1-r),}. b
end.

)

383 0D0O0OODO (1)-OOODOOODODO

gobbboogboboobooooobbboooooobobbooobobbooooonoo
00000 (heteroscedasticity) 000 0000000000000 000OOOOOOO
goobogoooo

goog -obogbbooboooboobbooobg

000 t=1
Yi= \J1-p2Y,
Ci= \J1-p?
X: = 1-p2X
t=2---,n0000
Yi = Y- pYea
Ci=1-p

X =Y —pXi1

000000 OoOLSO00O0mMOOBOUIODOOD

pw_method 2 1 {"1 DN32
55.4676 0.621306

Y = 554676+ 0.621306&X



030 00Ooooooo

pw_sub® al 82 0.149039 65.2935 51.8175
Year Ct* Xi* Yt* 83 0.149039 59.7839 47.0098
1970 0.525229 157.569 125.53 84 0.149039 65.231 49.3079

71 0.149039 55.7117 44.6203 85 0.149039 66.4233 47.904
72 0.149039 64.3511 46.9617 86 0.149039 62.6156 48.2021
73 0.149039 71.0338 52.4521 87 0.149039 68.0627 48.5002
74 0.149039 55.3127 36.5386 88 0.149039 78.255 56.7982
75 0.149039 62.7598 51.9425 89 0.149039 69.7887 50.2886
76 0.149039 50.2502 40.7309 90 0.149039 71.6829 54.5867
77 0.149039 59.654 44.5819 91 0.149039 73.7262 51.4809
78 0.149039 58.5483 45.029 92 0.149039 68.9185 51.779
79 0.149039 63.1444 50.4761 93 0.149039 65.2166 48.0771
80 0.149039 52.3367 41.6684 94 0.149039 66.9185 45.779
81 0.149039 52.7406 46.3703

XO0O0ODUOOO0O0OO0oOoUoooOoOoUOOBlue)O OLS(Green)PWJ D OODOODOOOOO
0O (RedDOOODOOODOGLSOOOOOOOOODOOOOOO

=0 | | | | | | | ]
300 320 340 360 380 400 420 440 460

0318 000000000000

384 DO0OODO (200000000 WLS

aiz is known/Weighted Least Squares(WLS)
O0000000ooooooo, 000 Y:,=B+BX+u 0000 D(r?[][]D ooQd
O000,00000,000000000000 (deflate)d000oooooooong.



39 0000

Yi 1 Xi u
— =B — +By— + —
i i ol o

u

Vi = —

T

2

| O_|2

\/X; transformation

000000 Xo0o0oooooooo

VX (square root transformation) 0000 0.

1
=B— +B2 VX1 + Vi
I\/Y 2 1 i

|
wls 2 1 {"1 DN32
48.3814 0.643862

y = 483814+ 0.64386X
wis

wls reg_exam_ad 2 1 {"1 DN32

+-————- e +
| £= |48.3814 0.643862|
Fmm———— e e L L B L L +
| corr=:197.4996 |
+-———-- e +
|AIC [77.3239 |
+o————- oo +
| DW= [0.352839 |
+-——-— Fomm - +
| t= |5.8238 30.2508 |
R et oo +
3.9 I oo
OLS rego reg0y

reg examad reg0 regexamad y
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googogood

O30
ooooo testneq testneqy
gooooag | er crtestneq y
tOo00Op0O tedf m tcdf n
ooooO mk dummu m mk.dummy4 n
mk.dummyL2 m mk.dummy12 n
reg select find_besD find_best0 y cpmpare n;x
find_best (m1;m2)findbest y;x
OoooooO | dw dwy
oood co_method co_method y
pw_method pw_method y
wls wisy
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U ‘Zl[]

Oooobond

goboobobooobooboboobbooboooboobbooboo
gogoooooooboobbobbbboooooouooooobooooboo

gobogobbooooboodob -booobooobbooobooon
ooobooboooobooboboooboobg

4.1 I| ooobn

411 0OJ0000O0OO0OOO

O00ooooogAICO0ODoOooooon

0000 300000000000000000000400 AICODOOOoOO
DATA is DN12 in numeric_recipe_data.ijs

041 0000000000 (@)0000 (0)40

3 poly® DN12
4.89554 1.13288 _0.141456 0.00438882

y = 4.89554+ 1.1328& — 0.141456¢ + 0.0043888%3
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040 0OOOOQOODO

3 poly_exam DN12
co. of det.(%): 39.09
value of AIC : 53.52
Value of MLE: 4.896 1.133 _0.141 0.004

4 poly_exam DN12
co. of det.(%): 62.51
value of AIC : 43.38
Value of MLE: _2.015 5.656 _0.889 0.049 _0.001

5 poly_exam DN12
co. of det.(%): 62.51
value of AIC : 45.38
Value of MLE: _1.936 5.585 _0.871 0.047 _0.001 0.000

AlCOO000 400000000000
y = —2.01542+ 5.6563% — 0.88914 K> + 0.048520%> — 0.000848678&*

412 0OO0O0O0OOOOOO

JOOOOO0OO0O (p)0OO0OO00O00O0D0OOD0OO0O0O0O0OOODOOOOOOOOOOO0
m Worked Example
00000 4000000000

4 poly® DN12
_2.01542 5.65633 _0.889141 0.0485201 _0.000848678

y = 4.89554+ 1.13288 — 0.141456¢ + 0.004388823
00000 oooo

p. 4 poly® DNI2O NB. 0O O OO
Fommm - ettt ittt e +
|_0.000848678|28.5493 14.1219j4.51938 14.1219j_4.51938 §.378352]

fomm - oo +

0378000000 41000
OO0O0O0OoOooO | L:@ p. 4 poly® DN120O NB. OOOOOODOOODOO

e i +
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|0.000848678(28.5493 14.8274 14.8274 0.378352]

. /

o / / |
/

Lo . |

0 4.2 polynomial

O00oO0oodg estimpolyo

4 estim_poly® DN12 7.6 4.06875
3.4 _2.01542 1.8 3.61157
5.5 2.79945 3.3 3.43786
7.7 6.11526 1.7 3.56376

10.2 8.19261 2.6 3.98505
8.5 9.27167 6.6 4.67716
7.6 9.5723 10.3 5.59512

10.1 9.29394 9.4 6.67361

11.5 8.6157 7.2 7.82693
6.9 7.6963 8.8 8.94903

2 6.6741 10.2 9.91348
2.3 5.66709 10.7 10.5735
5.9 4.77289 10.8 10.7618
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Linefit linefit_poly
linefit_poly D 000D DOO0000DDDOO(D 4.1)

4 linefit_poly® DN12

mJOQ0O0n0

p. JOOODOO0000000oOo (p)U000oO0oo0O00ooooooooood

steps stepsd nimericO 0000000000000 00O0O0O0OOOOO0OOOOO0O
googno

i-n i:nd000000C0O000O00OnNnUIOO0OO0OOODUODOOXOOOOOOOO
goo

require ’plot numeric trig’

i:5

5.4 _3_2_1012345

413 2000000

OO0vOOOOOOODODOOODOOODOOOOOoO0ooOOyOvOO 2000000
ooao

y=av +bv+c

50000000000000000040a

9 3 Vi 0000 kmh{9 17 17 25 35
17 9 y 0oogd m |3 9 5 14 23

Joon
gbobgobogobuoobboobooobuogboboobo



41 0O0ODOOOO

75

0 4.3

gboooooogo

1 9
117
117
1 25
135

81
289
289
625

1225

({. "1 DN4®)"/i.3

({:"1 DN40®) %. ({. "1 DN4®)"/i.3
_0.524759 0.259012 0.0119352

2 poly® DN40
y = —0.524753+ 0.25901% + 0.0119353%?

goooobogn
gboooobooooboooo

v 3¢ 3¢ [a] [Zvv
SV XVE Zvi|s|bl =] 2w
DIRVED IV W | 2 Vi
SV 3w x| 20D L3/ V43210
VBTV ZW‘
TV ZVvi X1 || 2.06485¢6 69055 2509
69055 2509 103
2509 183 5




040 0OOOOQOODO

2\/.
%‘c;" b=. +/Y*V°/210
(P4
Sy, 41214 1420 54
b %. a

0.0119352 0.259012 _0.524761

y =0.011935%2 + 0.25901X - 0.524761

*1

ooooooon
ooo0O0OoAICOOODOOOO

2 poly_exam DN40
co. of det.(%): 96.64
value of AIC : 8.74
Value of MLE: _0.525 0.259 0.012

3 poly_exam DN40®
co. of det.(%): 96.88
value of AIC : 10.35
Value of MLE: 5.330 _0.790 0.067 _0.001

4 poly_exam DN40
co. of det.(%): 95.29
value of AIC : 14.42
Value Of MLE ;% sssodcdedoddesessododedodedede s sodededede e dedede e e

00000200 AlICO000O0OO0?2 linefit_poly®@ DN4O O O DO OODOOOO
goog

000000000 Oo0obooboboobbooobo
3200000000000 CPUODOODOODODOOOOODODOOOOOOOODO

1000000000 00000oonong
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77

goooobogoooboobboooboooboobboobobooobooobobooobo
goooobogoboobog

1. 0000000000 0000000D000C0000000ooDoooooOoOgOo
gbobogboogbog

2. 000000000000000D000000O00 2100000000000

3.000000000000000C00000000DDODO0O0O0OOooooOoon
OooACOODODOCOOOO0O0000OODOODO0OODDOODOODODODOOD
O000D0m300D000o0oooooooood

4. 00000000000AICOO0O0O0000000O0ODODOOOOOO0O0O0O0OOO
gobooobogobuooboboobooboooboonoobooon
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040 0OOOOQOODO

4.2 I| Oooon

goboobogoobooboboobooooboo

_ 1 2
Yi = ag X X7 X X5 X - X X' X &
InY; = Inag + a1InXq + azlnXe + - - - + amInXm + INg

ggooooooooooooooooobobobbbbbbboooobboooobn
gooboobobooobooobooboboobooobooboboobbooobooboo
goboobboooboobobooboboobboooboo

m Worked Example 0000 DN41OOOOOQOODO,00000000000000O
gooboobobooobooobuoooboobbooboooboooboboooo

DN411=:1 2 3 mk_dummy4 "~ .DN41

1 2 3 mk_dummy4 DN41

NB. OO

0000 72
000

1001110
100

2010 117
201

3100 172
310

4000 76
400

5001112
500

6010 130
601

7100 194
710

8000 78
800

90 01119
900

10 ® 1 0 128
1001

111 0 0 201
1110

120 00 381
1200

13001 134
1300

14 0 1 0 141
1401

1510 0 216
1510

*2

S @ B @ Q@ Q@ rHr Q@ Q@ Q@ FrHr Q@ @ @ =

4.27667
4.70048
4.76217
5.14749
4.33073

4.7185
4.86753
5.26786
4.35671
4.77912
4.85203

5.3033
4.39445
4.89784
4.94876
5.37528

goobooboooboobobooboboobooobuoobobooboooboon

goboooboogn

200000000000 0000000000000 100000000000000000000
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200 —

150 —

100 —

50—

0 2 4 6 8 10 12 14 16
0O 4.4 expreg
oooogo
reg® 1 2 3 mk_dummy® DN41
64.8625 1.98125 113.056 48.2875 40.0188
f = 64.8625+ 1.98125 + 113056Q4; + 48.2875Q3; + 40.0188Q2
oooodo |ooooo
o0 Ln(Dy) = & + byt + b,Q2 + B,Q3; + b, Q4 + €

reg® 1 2 3 mk_dummy® . DN41
4.25357 0.0143442 0.890812 0.489297 0.420002

In; = 425357+ 0.0143442 + 0.890812)4; + 0.48929713; + 0.420002)2;




040 0OOOOQOODO

goooog
O
Yi=aoxaft xaf?x - xaiMx g, (t=1---N)
Dy = (&) (€1 (9% ) (€%5Q% ) (&% Q%)
[St — (64‘25357)(e+0'0143442)(60‘890812341)(80‘48929733‘)(60‘42000@2‘)
Script

000 100000oooooooogooooooo

exp_reg=: 3 : 0

NB. y. is beforehand make 1ln

CGULy),. /D 1xL (L, 1ML y) %1 regd y
)

googno
1. 0000000000000 Xotoogooooo

reg® DN410=. 1 2 3 mk_dummy4 ~. DN41

4.25357 0.0143442 0.890812 0.489297 0.420002

2. xO0000O0O0010000yYoooo

1,. }:"1 DN410
000
001
0180
100

e e e
w N R S -

3.1, X000000000

reg® DN410 0O NB. OO OO
4.25357 0.0143442 0.890812 0.489297 0.420002

(1,.}:"1 DN41®) * "1 reg® DN410

4.25357 0 0 0 0
4.25357 0.0143442 0 0 0.420002
4.25357 0.0286885 0 0.489297 0

4.25357 0.0430327 0.890812 0 0
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81

4. ed00O0OO

1x1° (1,.}:"1 DN410) *

"1 reg® DN410

70.3564 1 1 1 1
70.3564 1.01445 1 1 1.52196
70.3564 1.0291 1 1.63117 1
70.3564 1.04397 2.43711 1 1

5.t000 (0000000 0go

+/("1) 1x1° (1,.}:"1 DN410) * "1 reg® DN410
74.3564 74.8928 75.0167 75.8375

6. expreg NB.expregO OO OO

exp_reg DN410
72 70.3564
110 108.627
117 118.103
172 179.006
76 74.5113
112 115.042
130 125.078

194

78
119
128
201

81
134
141
216

189.577
78.9116
121.836
132.464
200.773
83.5717
129.031
140.287
212.629
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200 —

150 —

100 —

50 —

0 4.5 expreg

m 000000 oooood
Ln(Dy) = & + byt + b,Q2 + B,Q3; + b,Q4 + €

bl,b’2 b3 b4
@t _1=¢M1434_1-0144

1.445 % increase in demand each quartér D 0 000 1.445%0 00000000
ud

23 Mo opoooooooDooDooOoOooooon

(Q2 52 % Q3 63 %0 Q4 143 %)

1x1 ~ }. reg® DN410
1.01445 2.43711 1.63117 1.52196

421 Reference

Stephen A.DelLurgio [Forcasting Principles and Applications] McGraw-Hill 1998
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4.3IDDDDDDDD

gboooobogoboobboobooobooboboobbooboooboon
01976000000 -00000000DODOO0ODDOO0ODODOOODODOOOODO 00
00000000000 000000000 SO00000oo0oooooooooo
gboboobooobooboboobbooboboobooooboo
gboogoobogobod

)

DN42
fommm - Fommmmm - +
[1 35791257 8]
e R +

X Y

10 logis DN42
5.5744 0.470032

v 10
T 1 + e 55744(-0470032)

L=100000

’line marker’ plot DN42

| | | | | | | |
T 2 3 7 5 6 7 8 9

0 4.6 logisticg
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Script
NB.
NB. Losistic regression
NB.
logis=: 4 : ®
Y=: . (snd y.) % x. - snd vy.
bO=: (+/ Y*fst y.) - tmp2=: ((+/ Y) * +/ fst y.)% tmp=: > 0{$ L:0 y.
bl=: (+/ (£st y.) "2) -((+/ fst y. )"2) % tmp
b=: b0 % bl
ad=:(+/ Y)- b* +/ fst y.
al=: b* tmp
a=: - a® % al
a,b
NB. Y reg fst y.
)

4.3.1 Reference

b ogoboboobooboboobbooo booo
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4.4INewt0nDDDDDDDDD

4.4.1 Newton [

JOODO0D0OO0oO0oOoooo (D.)0oooooodN.Thomson(former IBMY 19940 00 O
D.OODODOODOODOODOODOODOODOODOOOO

ggooooono

Oo0o0doo0ooonooooooJdJoooooo b.ooooooooDooooooDoo
gooooooono

gboooobogooboobbooobooboboobboobooobooon

new_1=: 1 : "] - x. %x.D.1” (C:_00"®)

mJO0O00

l1.0000000000O00oO0ooooooooooogoooog = 60000
googno

2. 100000000000

3.D.1000000

4.’0000000000D0DO0ODOO0O0O0

5.0":_ 00000000000 CC:100) 000000000000

m Worked Example x> - x-2000000000 p. 00000000O0OOOO p.

O0000000000000000000 a+bxO00O0O0DO0DOO00O00000O00O0O0OO
Oof200000000000

ff2=. _2 _1 1&p.

ff2 000123

2 _2014
oooooooooo OO0O0O0O0Ogog Fisvector-valued
f(x F X(n)
Xnel = Xn — ﬁ X(n+1) - X(n) — ,( )
f'(Xn) F'(x)

f£2 newton
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(i:5),.(ff2 i:5),. ££2 newton i:50 NB.Newton O O[O

i:5/ff2/newton £f£2

vl B W N R @ kR N W b o
|
O T NS T S T — BN
|
N NN NN R B B ==

y=x+x-1000000000000000
fn=._1 10 1 &p.
MO0 x+x-1000000

i: 5
5_4 _3_2_1012345

fn i:5
_131 _69 _31 _11 _3 _1 19 29 67 129

OO00000DOoO0oOoO0OONewtonDOOOOOOOOOOOO
plot (i:5); fn i: 5

O000-500 50000000000i:01.000000000000000000
agood

fn newton i: 5

0.682328 0.682328 0.682328 0.682328 0.682328 0.682328 0.682328 0.682328 0.682328
0.682328 0.682328

doodoooboooooboooooooon

plot (steps O 1 100); (100#0),:fn steps ® 1 100
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442 NewtonOOQOOOOOOO

00 NewtonD OO OO Thomsond OO OO 0000000000 0OO0OO

m Working Example sample data is DN43 (in nonlineaggression.ijs)

from N.Thomson APL94 paper

gboobooboooboobobuoobboobbooobuoooboon
0000 plot0 X;YOOO Y; XOOO0OO0OOO(. ;0000000

- of 2 ofof afiofi \1 [« Ofi @]
Z(aao) Z(aaoaal) Z(aa?aafm) Ay Zr?aori
ofiof Z(a_fi)z SIRALALNE | PNRCL | ISR
day0ag oy day0am ! oy !
otot . otof ot 2 ||aa®|| < ot
2 damdag 2 damday Z(aam) n o
ooooog y = Co + Cexp @*



88

040

gooogoo

0 4.7 DT2
Newton O O
ooo fnl=: 4 : * O{M+A{N* "-x * 2{y’
ooog C0=340.4
54§ DN43

4.745 4.653 4.604 4.007
4.086 4.569 3.806 3.191
3.098 3.676 3.876 3.433
4.106 3.007 2.631 3.694
3.293 2.418 3.445 3.195

DT2=: (i.20);DN43

sample data DN43 is N.Thomson APL94 paper




4.4 NewtonOOOQOOOODOO

(]. DT2)&(fn® sub_a2) newton_fit CO=. 3 4 0.4
2.89046 1.93904 0.118559

f = 2.89046+ 1.939040-11855%

plot DN43 ,:2.89046+ 1.93904* 1x1 "~ -0.118559%i.20

O 4.8 Newtonfit

ooooooo
reg® " .DN43
1.53001 _0.0232633

f = 15300 0023263%

m Working Example 0000000000 OO0OO0O0O 1997
pl490 0 datad is DO.O

0000 |y=cer®
g

Newton
good fn2=: 4 : °’ (O{y)" “x o* 1{y5
O
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O 4.9 regression with exponential

ood C2=:13-1
DN44
e ettt LT o o +
(0.1 0.2 0.3 0.4 0.5]1.1112 0.8232 0.6099 0.4518 0.3347|
o oo +

(]. DO_®)&(fn2 sub_a2) newton_fit C2=. 1.3 _1

1.49993 _2

.9998

1.49993 2999 NB. true value is He3

4.4.3 Newton O[O0 Script

NB. Norman Thomson 1994
NB. slightly modified by M.Shimura

NB. x is |

. plot x;y data

NB. y is syokiti
newton_fit=: 1 : '] + (G@{. @x)(%.|:)C@{:@x) D.1’(":5)

sub_a®=: 1 :
sub_al=: 1 :
sub_a2=: 1 :

T e{: e x 1’
T (Gef. @D- x;x
"(x sub_a®) sub_al’
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4.4.4 Reference

Norman Thomson [Applying Matrix Divide in APL and J] APL Quote Quad®04
0000000000 oooooo 1997



040 0OOOOQOODO

'45I ooon

0000 YODODDODOOOoOOoOoOooooooooooo
000000ooo0o0U00Doood TwO Y, OOODODOUOOoDOoDOoOoOooooo
oooboobboobooobooobooboboon
gobooboooobooboboobbooboobobooboooboon
3.61000000000000000O000D0DOO00DODO00ODOOU0DOOOUOO
oo0ooobboobboooboooboooboobooooboo

451 DO matrix OOO00OOO0OOODODOOOO

00 [?l0000000000000000001955-199%5 100000000000
oogooooo

dodoooooobobobobobobbobobobobtboodddoooooooooo oo
godad

00000dodoOooOooDooooooooooodoooooooyooooooog
oooooooooobobooon

dodoooooobobobobbobbboobobobotbdddddoooooooo oo
dodoooooobobobbobobobooboboooooa

O0000000000000000000000000000000 mkdougaku O
gogd

gogooooon

?t:Da/o+011Yt_1+a/2VXt1+a/3VXt2

Y., 0 YOOOOOOOOOOO

V¥ +a3V% 00000000000000000

DN45=. ".@> readcsv DIRCSV, 'honda_311.csv’

00010000000 (10{."1 DN45)



45 00000

DN45 (2 3;1) mk_dougaku DN45
00000 OO0 oooogoo OvY-1 d-P d-IPX Y
oooy P IPX 442.37 0.0089 1.3 515.81
55 442.37 0.8928 6 515.81 0.0076 1.4 587.98
56 515.81 0.9017 7.3 587.98 0.0084 _0.2 630.76
57 587.98 0.9093 8.7 630.76 0.0087 1.7 740.81
58 630.76 0.9177 8.5 740.81 0.0078 2.5 877.46
59 740.81 0.9264 10.2 877.46 0.0087 2.5 1015.54
60 877.46 0.9342 12.7 1015.54 0.0089 1.3 1076.81
61 1015.54 0.9429 15.2 1076.81 0.0098 1.8 1229.44
62 1076.81 0.9518 16.5 1229.44 0.0102 2.9 1387.92
63 1229.44 0.9616 18.3

64 1387.92 0.9718 21.2

(2300023000000 100Y-10
OO0O0ooooOOoyYOOoOOo40O00O0O0OOO
gooogno

ooooO

Yt =ao+ 0/1Yt_1 + a2Xp2 + @3%3 + &

regd (2 3 ; 1) mk_dougaku DN45
13.571 1.02176 4088.13 24.3003

Vi = 13571+ 1.02176Y;_; + 408813Vxy; + 24.3003V%»

reg® reg_exam_ad (2 3 ; 1 ) mk_dougaku DN45

R e T TP +
| f= [13.571 1.02176 4088.13 24.3003 |
+-—-——- et it +
|corr=:199.7973 |
o e eI T +
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00 x 00000000 X000 Vk=%-%1000000
0000000000000 00000000 V40000000 mooooooao
ooo

7000

6000

5000

4000

3000

2000

1000

LL 1 1 | 1 1 1
1955 1960 1965 1970 1975 1980 1985 1990

0410 0DOOO

Script

sabun_sub=: 3 : ’ ;-/& [.(L:0) 2<\ Yy’
sabun=: 4 : 0

if. 1=# x do. ANS=. sabun_sub x{"1 y
else.

ANS=. ,./>sabun_sub L:0® {|: x{"1 y
end.

ANS

)

mk_t_1=: 4 : *(}: tmp),. }. tmp=: x {"1 y’
mk_dougaku=: 4 : 0

NB. x is e.g. 20 1 3;1 2;0

X0 X1 X2'=: x

X0{"1 (X1 sabun y),. X2 mk_t_1 y

)
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452 00O -0000 000

000000000000 000000000000000000000000000
0oo

Gt = Ao + A1li-1 + A2AX + AgXe-1 + U
AxO0ODODOOO0O0OO0O000D000000000, 010000000000
00000000000 000000D0O0000 OoOLSO0O00000nod
uALAA; 0000000000000 D0000 o8,6,y000000

. _ 2Po(A ~05A))
- A3(A1 + 1)
5= 2M-1) A
(Al + 1) A, — 0.5A3

_ 2(A; — 0.5A9)
o (A+ 1)
-8

A; — 0.5A3

mJ0o0oooon

0

DN46=. ".@> readcsv DIRCSV, ’minotani_91.csv’

reg® mk_ht 1 2 {"1 DN46
218.707 0.55144 7.45617 1.08877

O = 218707+ 0.55144y;_1 + 7.45617A« + 1.0887 %;_1

reg® reg_exam_ad mk_ht 1 2 {"1 DN46
e T et +
| £= |218.707 0.55144 7.45617 1.08877 |
+-—-——- o - +

|corr=:155.6471 |

it o +
|AIC |153.876 |
Fomm - o +
| DW= |1.69933 |
it e e T e +
[t= |0.847684 2.36688 2.25759 2.07664]|
e it ettt +

00o0o0obbodo0oDx,0t0000o0b00o0o0DbOo0oboboobobooboo
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DN46
O0o0o00ooooooooood mkht 1 2471 DN46
O0/0000 ODO/000 DODOOO
0dq X dx
40 1093.3 166.084 0
41 1080.7 176.579 10.495
42 1201 187.534 10.955

0 qgt-1 dx X o]
16093.3 10.495 176.579 1080.7
1080.7 10.955 187.534 1201
1201  10.669 198.203 1174

1174 12.001 210.204 1103.5
43 1174 198.203 10.669

1103.5 8.082 218.286 1038.8
44 1103.5 210.204 12.001

1038.8 6.479 224.765 1015.2
45 1038.8 218.286 8.082

1015.2 15.218 239.983 1113.1
46 1015.2 224.765 6.479

1113.1 14.243 254.226 1293.5
47 1113.1 239.983 15.218

1293.5 _7.274 246.952 1212.9
48 1293.5 254.226 14.243

1212.9 5.089 252.041 1080.8
49 1212.9 246.952 _7.274

1080.8 4.043 256.084 1127.3
50 1080.8 252.041 5.089

1127.3 5.812 261.896 1186.7
51 1127.3 256.084 4.043

1186.7 8.757 270.653 1293.5
52 1186.7 261.896 5.812

1293.5 12.146 282.799 1315.5
53 1293.5 270.653 8.757

1315.5 _0.541 282.258 1226.4
54 1315.5 282.799 12.146

1226.4 _2.366 279.892 1202.8
55 1226.4 282.258 _0.541

1202.8 8.309 288.201 1230.9
56 1202.8 279.892 _2.366

1230.9 5.271 293.472 1242.7
57 1230.9 288.201 8.309
58 1242.7 293.472 5.271

hau_takker mk_ht 1 2 {"1 DN46

T — e S S — fom +
|ALPHA |BETA | GAMMA |DELTA | 1/DELTA|
N it R +o——— - +o—mm - e et +
[1789.82|_0.420726]8.91015|0.157524|6.34822|
T — R — S I — fom +

a00000p000000O00DOODODOODOODOODODO
yOOUOOOOOODOOUODOOOOOODO 10o00oodoooooobooogenOO
0000000 (o) 0DDOODODO0DOooo0

m Worked Example y(t) = ad + (B8 — 6)y(t) + yX(t) + yox(t)
YO = 50+ %)
y(t) = Ay = (Yt — Yt-1)



45 00000

1300—

1250

1200

1150(—

1100—

1050

1000 —

0411 0000000 HT-Model

X(t) = %(Xt + X-1)

X() = A% = (% — %-1)

Ye= Ao+ Ay + Ao+ Asx 1 0O OO

(00000000 e,8,9.6000000000
Ao(Az — Ag

T A DA+ AY)
_ 2(A1 - 1) 2(A2 + A3

A+l (A-Ag)
A A

YT A+ L
_ 2(A2 + A3)

A — Ag

DM189=. ".@> readcsv DIRCSV, ’minotani_189.csv’

regd 0 3 1 2{"1 mk_t_ 1 1 2{"1 DM189
_0.206106 0.836571 0.242656 _0.218758

CDS D= -0.206106-0.83657LDS D 1+0.242656/ DHPCDS B-0.218758 DHPCDS D4
cbsb:ooooooono

goooooog
YDHPCDSD:
cbsbooooon

hau_takker2 0 3 1 2{"1 mk_t_1 1 2{"1 DM189

Fom e o Fom - Fom +
|ALPHA |BETA | GAMMA |DELTA | 1/DELTA]|

it Fomm - Fommm - Fommm - it +
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040

gooogoo

|_2.1667|_0.0743826(|0.251237(0.103589|9.65351|

o Fom - Fom - Fomm - Fomm +

mk_ht=: 3 : 0
NB. usage: uml m2 {"1 vy
NB. column of ml m2 is q X
NB. q qt-1 delta-x xt-1
SABUN=: ; -/&|.(L:0) 2<\ {:"1vy
(3: {."1y) ,.SABUN,.(}: {: "1 yv,.3. {."1 )
)

hau_takker=:3 : 0
NB. Usage: umk_t ml m2 {"1y
"A® Al A2 A3’=: reg® y
ALPHA=: ((+: A®) *A2- -: A3)% A3* >: Al
BETA=: +/((+: <: AD)% >: Al),A3 % A2- -:A3
GAMMA=: (+: A2- -: A3)% >: Al
DELTA=: A3%A2- -: A3
CAL=:"ALPHA’ ; 'BETA’ ; 'GAMMA’ ; 'DELTA’;’1/DELTA’
CAL, : ANS=:ALPHA;BETA; GAMMA ;DELTA;% DELTA
)

453 OO0ODOOOOOO

TMBrownOOOOOOOOOOOODO0ODOODOOOOOOOODOODOOOOOOOO
goobooboobooobooobooboboobooobooboboobboooboooo
goboobooobooboboobbooboooboobboobooobooboo
gobooobboooboooboooboobbooboo@moboooboon

0C=a(1-)+B81-A)Y,+AC, 00000000000
Ci=a+BYD +yCi1

00000 G000 000000oooooooooooooooooLsoooo
0000o0o0o0oot-1000000000000000D0OC000DOO00DO0O0O0OO00

ooog
DN48=. ".@> readcsv DIRCSV, ’minotani_20.csv’

reg0® (3. 2{"1 DN48),. mk_t_1 1{"1 DN48
8.20431 _0.00712897 1.00022



45 00000

99

reg® reg_exam_ad (}. 2{"1 DN438),.

+---—-- o +
DW=  |1.21154 I
+--———- o +
| t= |2.8677 _0.0768726 9.87364 |
+-————- o +

C =8.20701- 0.007268/ D + 1.0003&_;

mk_t_1 1{"1 DN48

year YD Ct-1 Ct 1981
1966 89.2311 69.1303 76.4408 | 1982
1967 99.5354 76.4408 84.1501 | 1983
1968 109.297 84.1501 92.29 | 1984
1969 121.983 92.29 101.664 | 1985
1970 133.525 101.664 108.885 | 1986
1971 139.053 108.885 115.524 | 1987
1972 154.528 115.524 127.133 | 1988
1973 168.379 127.133 134.987 | 1989
1974 177.955 134.987 136.942 | 1990
1975 184.558 136.942 142.001 | 1991
1976 189.055 142.001 146.828 | 1992
1977 194.784 146.828 152.479 | 1993
1978 201.008 152.479 161.586 | 1994
1979 205.983 161.586 170.055
1980 208.52 170.055 171.145

212.
217.
223.

753
719
195

228.76

237.

088

244.9

250.
261.
270.
280.
292.
295.
300.

547
553
513
107
364
818
989

305.79

171.
174.
182.
187.
192.
199.

145
605
758
981
628
461

207.29

215.
228.
237.
247.
254,
257.
261.

918
024
825
726
435
237
618

174.
182.
187.
192.
199.

605
758
981
628
461

207.29

215.
228.
237.
247.
254,
257.
261.
265.

918
024
825
726
435
237
618
364




100 040

gooogoo

issued O OO p20
C:.ooooooooo/PC
PC:O00O0DO0OOO (1990=1.0)
YD:OODODOOoOooooa/PC
oo:od

a=. (}. 2{"1 DN48),. mk_t_1 1{"1 DN48
’key native brown’ plot |: ({:"1 a),. estim_reg0® a

pd ’eps temp/brown®.eps’

= native
- .

| I L
0 5 10

I I T
15 20 25

0412 000000000 0OOOOO
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4.6 I Group Logit

Quialitative Responce regression Model

0000000000000 00,00000000000d0nYESO NOODDOOO
O, 0000000000000 o0ooooooooo,ob0oo0booo,0ooooao
doooooobooo.ooo,o0obooooooooao
dododooodbooobooodoooooooo,0boobooboobooonoa
goooooo.

46.1 DOO0O0ODOOOO0O-1

il il
oooo P =EY =1|X)= _
= E(=11X) 1+exp—(a +BX)) 1+exp-Z)
Zi :a/+,8Xi
exfq—2)
0Doooo 1-Pj= ————2_
' 1l+exg-2)
P.
oooooooo IJazemao
0o -000 '
oo Inl_ipi:Zi:cx+ﬂXi
ooooood INn——=—=Z =a+BX +¢
1-P;

0000000000 0000000,000000000000000,00
Dﬁﬁat$5DDDDDDDDDDDDDDDDDDDDDDDDDDDD
0000000000000000000000000000000
DDDPJN]ﬁ:———L——DDDDDDDDDDD

NiPi(1 - P)
Working Example 00000000000
oo0ooooooo
ooooo
1.P=n/NNB.OODOO0O00OOD0O0O0O0OO0OO

P=: (2{"1 DN50) % 1{"1 DN5@

0.4 0.4 0.35 0.5 0.7 0.833333 0.75 0.925
2. logit=InP/(1-P)0 NB.OODOODOOODOO

L=. ". P %-.P
_0.405465 _0.405465 _0.619039 0 0.847298 1.60944 1.09861 2.51231
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DN50

ugb oog ooo

200
400
600
800
1000
1200
1400
1600

50 20
100 40
200 70
300 150
200 140
120 100
80 60 o2 ]

| | | | | | | |
200 400 600 80 1000 1200 1400 1600
40 37

0413 0000000000 logito O

.w=NP(1-P)

W=.(C(1{"1 N®)* P)*-.P
12 24 45.5 75 42 16.6667 15 2.775

.w:0NB.O0OODOODOOO0OODOO0DOODO
1
. L* =w? «logit

LH=. (%: W) * L
_1.40457 _1.98637 _4.17565 0 5.49112 6.5705 4.25491 4.18508

6. X* = WX
logit_1 NO
e
| X Ni ni Pi=n/N 1-Pi Pi/(1-Pi) Li wi= Ni(1-Pi)sqrd wi Li*
e
| 200 50 20 0.4 0.6 0.66666 _0.405465 12 3.4641 _1.40457
| 400 100 40 0.4 0.6 0.66666 _0.405465 24 4.89898 _1.98637
| 600 200 70 0.35 0.65 0.53846 _0.619039 45.5 6.74537 _4.17565
| 800 300 150 0.5 0.5 1 0 75 8.66025 0
11000 200 140 0.7 0.3 2.3333 0.847298 42 6.48074 5.49112
[1200 120 100 0.833333 0.166667 5 1.60944 16.6667 4.08248 6.5705
| 1400 80 60 0.75 0.25 3 1.09861 15 3.87298 4.25491



4.6 Group Logit 103

|1600 40 37 0.925 0.075 12.333  2.51231 2.775 1.66583 4.18508 2665.33]|

reg_logit
LDAT=: 9 8 10 {"1 TMP

L, 00 W2,00 X*

_1.40457 3.4641 692.82
_1.98637 4.89898 1959.59
_4.17565 6.74537 4047.22
0 8.66025 6928.2
5.49112 6.48074 6480.74
6.5705 4.08248 4898.98
4.25491 3.87298 5422.18
4.18508 1.66583 2665.33

{."1 LDAT %. }."1 LDAT
_1.51827 0.0021247

reg_logit DN5O
_1.51827 0.0021247

000000100)0000,000000000000.00212000000
U

46.2 00O0OO0OODOO Gjarati

3 | B X 0Do0ooo (2)/(3)
4 | 1-P 1-(3)

5 | % A (3)(4)

6 | L '”1_% In(5)

7w NiPi(1-P) | (1)*(3)*(4)

8 | VW V(7)

9 | L Li VWi Lstar (6)*(8)
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1 2 3 4 5 6 7 8 9 10

0414 0oOoOOQd

10 )zl* Xi Wi Xstar (0)*(8)
11| EL* ELstar= Y 1 VWi +B2X;
12 | logit ELstar/ vw;
" - dogit
13 | probability P | = 71 dogit
14 | Change in probal B(1-P)P
bility

goooooooo,b0bbbb -0 ooooa
Working Example 0 OO 00O
00 (LO0O0OUS$N; Samplen, 0000000

80

DN51

In Ni ni

10 60 18
13 80 28
15 100 45
20 70 36
25 65 39
30 50 33
35 40 30
40 25 20

463 ODUOOOODOOO

goooad
1. I:i = |I']1—7|5;§i =Bl +B2Xi
goodooobdooondooouogoooog
Li = B1 Wi +B2X; + Vi
L* O VV%,Xf doooooooooooooa

logit_1 DN51



4.6 Group Logit 105
0 1 2 3 4 5 6 7 8
N B 1-B =5 ¥ w N
ni/N; |n(1—f’iﬁ NiPi(1- P;)
6 40 8 0.2 0.8 0.25 -1.38629 6.4 2.52982
8 50 12 0.24 0.76 0.315789 -1.15268 9.12 3.01993
10 60 18 0.3 0.7 0.428571 -0.8473 12.6 3.54965
13 80 28 0.35 0.65 0.538462 -0.61904 18.2 4.26615
15 100 45 0.45 0.55 0.818182 -0.20067 2475 4.97494
20 70 36 0.514286 0.485714 1.05882 0.057158 17.4857 4.18159
25 65 39 0.6 0.4 1.5 0.405465 15.6 3.94968
30 50 33 0.66 0.34 1.94118 0.663294 11.22 3.34963
35 40 30 0.75 0.25 3 1.09861 7.5 2.73861
40 25 20 0.8 0.2 4 1.38629 4 2
9 10 11 12 13 14
L: X EL* logit probability change in probability
VW X VWi P
-3.50708 15.1789 -2.8365 -1.12123 0.245784 0.014583
-3.48102 24.1595 -2.91088 -0.96389 0.2761 0.015723
-3.00761 35.4965 -2.86298 -0.80655 0.308626 0.016786
-2.64091 55.4599 -2.43403 -0.57055 0.361111 0.01815
-0.99832 74.6241 -2.05569 -0.41321 0.398143 0.018851
0.239013 83.6318 -0.08307 -0.01987 0.495034 0.019665
1.60146 98.7421 1.47511 0.373476 0.592299 0.018997
2.22179 100.489 256856 0.766819 0.682832 0.017037
3.00867 95.8514 3.17723 1.16016 0.761362 0.014293
2.77259 80 3.10701 1.5535 0.825419 0.011336

00100 X000
L,00 W2,00 X*

LDAT=. 7 8 10 {"1>{: logit_1 DN51

6.4 2.52982 15.1789
9.12 3.01993 24.1595
12.6 3.54965 35.4965
18.2 4.26615 55.4599
24.75 4.97494 74.6241
17.4857 4.18159 83.6318
15.6 3.94968 98.7421
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11.22 3.34963 100.489
7.5 2.73861 95.8514
4 2 80

2. ELstar= 1 yW + X* = L} = 1.59324\W; + 0.0786686¢*

oobooboboobobooobooobooos.1»0nooooboo

1x1 ~ £
0.203266 1.08185

gooooboogoooboobboobooboobooooboooo
[, = 1.65867+ 0.079166X;

(6{"1 TMP) %. 1,.(0{"1 TMP)
_1.65867 0.0791661

ElstarDOOOOOODOOODO \/V_ViEJEJ)A(i*in\/WiDDDDDDDDDDDDD

gooogn

1ﬁ; — 159324 +0.0786686"
—Fi
— 159324y , 0.0786686;

ELSTAR=: +/ "1 £f* ("1) 1 2{"1 LDAT
_2.8365 _2.91088 _2.86298 _2.43403 _2.05569 _0.0830732 1.47511 2.56856
3.17723 3.10701

3. logitd ELstarD w 0000000000

(® 2 {"1 LDAT),. +/ "1 £* ("1) 1 2{"1 LDAT

logit =. EL% 8{"1 TMP

L" X = ELstar
_3.50708 15.1789 _2.8365
_3.48102 24.1595 _2.91088
_3.00761 35.4965 _2.86298
_2.64091 55.4599  _2.43403

_0.998324 74.6241 _2.05569
0.239013 83.6318 _0.0830732
1.60146 98.7421 1.47511
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2.22179 100.489 2.56856
3.00867 95.8514 3.17723
2.77259 80 3.10701

LP=. (tmp=.(+/ "1 £* ("1) 1 2{"1 LDAT ))% 1{"1 LDAT
tmp, .LP
_2.8365 _1.12123
_2.91088 _0.963889
_2.86298 _0.806552
_2.43403 _0.570546
_2.05569 _0.413209
_0.0830732 _0.0198664
1.47511  0.373476
2.56856 0.766819
3.17723 1.16016
3.10701 1.5535

. P .
4. logit0 00O (13)= ——= = ellogi)
1-P;
e(Iogit)
P= ——
1 + gllogit)
oo
(1x1°LP)%1+1x1 "~ LPODOOOOOO

tmp, .LP, .LP2=:(1x1"LP)%1+1x1 ~ LP

_2.8365 _1.12123 0.245784
_2.91088 _0.963889 0.2761

_2.86298 _0.806552 0.308626
_2.43403 _0.570546 0.361111
_2.05569 _0.413209 0.398143
_0.0830732 _0.0198664 0.495034
1.47511  0.373476 0.592299
2.56856 0.766819 0.682832
3.17723 1.16016 0.761362
3.10701 1.5535 0.825419
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O 4.15 njNi O and Logit

n -
WI’P‘D

gooboboooooobobbboooobobbbboooooobboooo
logit0 00000000000 PLP2Z0DODOOOOOOOOOODOOO

C o{"1 TMP) ,. (3{"1 TMP),.LP2
6 0.2 0.245784
8 0.24 0.2761

10 0.3 0.308626

13 0.35 0.361111

15 0.45 0.398143

20 0.514286 0.495034

25 0.6 0.592299

30 0.66 0.682832

35 0.75 0.761362

40 0.8 0.825419

plot (0{"1 TMP); a=. {:"1 TMPO4

Change in probability
odoooboooooooooooooo
Change in probability 3(1 — P)P

estim_logit DN51
X Nini nl/Ni(%)logit change in probability
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6 40 8 0.2 0.245784 0.0145831
50 12 0.24 0.2761 0.0157234
10 60 18 0.3 0.308626 0.016786
13 80 28 0.35 0.361111 0.0181496
15 100 45 0.45 0.398143 0.018851
20 70 36 0.514286 0.495034 0.0196652
25 65 39 0.6 0.592299 0.018997
30 50 33 0.66 0.682832 0.0170374
35 40 30 0.75 0.761362 0.0142933
40 25 20 0.8 0.825419 0.0113363
r /,/ﬁ,—/”/*%”“\\
L // -

15 20 25 30 35

0 4.16 Logtand change in probability

03—
02)
01
ol = | - .
6 8 10 13
— bar_logit —— line_change_probability

reg_logit DN51
_1.59324 0.0786686

logit_2 DN51
- +
| L* X* EL * Logit Probability change in P7|
et T e +
| _3.50708 15.1789 _2.8365 _1.12123 0.245784 0.0145831 |
| _3.48102 24.1595 _2.91088 _0.963889 0.2761 0.0157234 |
| _3.00761 35.4965 _2.86298 _0.806552 0.308626 0.016786 |
| _2.64091 55.4599 _2.43403 _0.570546 0.361111 0.0181496 |
|_0.998324 74.6241 _2.05569 _0.413209 0.398143 0.018851 |
| 0.239013 83.6318 _0.0830732 _0.0198664 0.495034 0.0196652 |
| 1.60146 98.7421 1.47511  0.373476 0.592299 0.018997 |
| 2.22179 100.489 2.56856 0.766819 0.682832 0.0170374 |



110 040 0OOOOQOODO

| 3.00867 95.8514 3.17723 1.16016 0.761362 0.0142933 |
| 2.77259 80 3.10701 1.5535 0.825419 0.0113363 |

m 00000 logitd

0 1 2 3 4 5 6 7
X N n P 1B, P Do) w=NB(@I-B) W= N
1-P 1-P
6 40 8 0.2 0.8 0.25 -1.38629 6.4
8 50 12 0.24 0.76 0.315789 -1.15268 9.12
10 60 18 0.3 0.7 0.428571 -0.8473 12.6
13 80 28 0.35 0.65 0.538462 -0.61904 18.2
15 100 45 0.45 0.55 0.818182 -0.20067 24.75
20 70 36 0.514286 0.485714 1.05882 0.057158 17.4857
25 65 39 0.6 0.4 15 0.405465 15.6
30 50 33 0.66 0.34 1.94118 0.663294 11.22
35 40 30 0.75 0.25 3 1.09861 7.5
40 25 20 0.8 0.2 4 1.38629 4
9 10 11 12 13 14
L: X EL* logit probability change in probability
LivW X vWi P
-3.50708 15.1789 -2.8365 -1.12123 0.245784 0.014583
-3.48102 24.1595 -2.91088 -0.96389 0.2761 0.015723
-3.00761 35.4965 -2.86298 -0.80655 0.308626 0.016786
-2.64091 55.4599 -2.43403 -0.57055 0.361111 0.01815
-0.99832 74.6241 -2.05569 -0.41321 0.398143 0.018851
0.239013 83.6318 -0.08307 -0.01987 0.495034 0.019665
1.60146 98.7421 1.47511 0.373476 0.592299 0.018997
2.22179 100.489 2.56856 0.766819 0.682832 0.017037
3.00867 95.8514 3.17723 1.16016 0.761362 0.014293
2.77259 80 3.10701  1.5535  0.825419 0.011336
11=ax W +bx X’
12= 11/ VW "
P ) 12
13= o —d® = S

14=pB(1- 'ﬁ)lﬁ
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OO0 00oO0Ooooooogoogo 2000
D.N.Gujarati [Basic Economics 4th Edition] McGrawHill 2002
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4.7IDDDDDDDDDDD

O00000Oo19050 000000000 -00000oooooooo 1936000
goobogobob -gobboogbbuoobbuoooobooobboobbooobog

ooobooboooboobbooboboobooboo
gbooboobooobbuoobbooboooboon

OO0oOXOooooooooooyaDo
goooobogboboooooon

0000000 1000000000DOOO000U00DOoDoOOoOO0OoUOooOoDooOOO

oooooboogooo
G=1— (X — Xo)(Y1 — Yo) + (X2 — X0)(Y2 — Y1) +
=1-2((%n = Xn-1)(Yn = Yn-1))
X;:oooooo
Y :0ooooog

m Working Example 00000 500000000

DN52
OO00 1966 1980 1990 2005 (%)

1: 0.2 5.6 5.3 4.6 4
2: 0.4 12.4 11.6 10.7 9.6
3: 0.6 17.7 17.6 16.6 15.3
4: 0.8 23.8 24.4 23.8 23
5 140.4 41.1 44.3 48.1

Total 99.9 160 100 100

Ooo0oooo 20 20

googno

s ((Kn = X)) (Yn = Y1)

ooobo -000db0 Ooobbooboooboobobooboo

jini_sub DN52

Fomm e oo

0.2 0.4 0.6 0.8 1]/0.056 0.053 0.046
| | 0.18 0.169 0.153
| |0.357 0.345 0.319
| |0.595 0.589 0.557
| |0.999 1 1

e e ettt

————— +
0.04]
0.136]
0.289]
0.519]
1]

————— +
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calc_jini DN52
0.325 0.3376 0.37 0.4064
1966 1980 1990 2005
0.325 0.3376 0.37 0.4064

D000000000000000O00O00 "

oooooboogooo

0000 0000000 200000000

o |.(L:0) 2<\ 0,CUMO

|0.056 0.053 0.046 0.04 |
| 0 0 0 0 |

| .18 0.169 0.153 0.136]
|0.056 0.053 0.046 0.04]

o000 0ObOhO0oOobobooobooon

; ("D, +/(L:0) 2<\0,CUMO
0.056 0.053 0.046 0.04
0.236 0.222 0.199 0.176
0.537 0.514 0.472 0.425

0 4.17 jini
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040

gooogoo

0.952 0.934 0.876 0.808
1.594 1.589 1.557 1.519

Xi-X., 000000 X-%,0000

1

;"L ,. 0.2 */ L:0 +/(L:0) 2<\0,CUMO
0.0112 0.0106 0.0092 0.008
0.0472 0.0444 0.0398 0.0352
0.1074 0.1028 0.0944 0.085
0.1904 0.1868 0.1752 0.1616
0

0.3188 0.3178 0.3114 0.3038
ooy,

+/ ;') ,. 0.2 */ L:0 +/(L:0) 2<\0,CUMO
0.675 0.6624 0.63 0.5936

-y 10000

calc_jini DN52
0.325 0.3376 0.37 0.4064

m Working O Example 000000 5000000000

DN53

gooOd BG PK  IND PH CH TH ML TW SKR JP

: 0.2 9 9.3 8.1 5.4 4.7 6.3 4.4 6.7 7.9 8.6
: 0.4 12.5 13 11.6 8.8 9 9.9 8.1 12.5 13.6 13
: 0.6 15.9 16.3 15 13.1 14.2 14 12.9 17.4 18 17.4
: 0.8 21.2 21.1 19.3 20.5 22.1 20.8 20.3 23.2 23.1 23.4

1 41.4 40.3 46 52.2 50 49 54.3 40.2 37.4 37.6

oooodo 20 3

gooboobooobooobooboboobooobuoobobooboooboon
goooooboogno

K,.{@>calc_jini DN53

+-———- +o————- - Fo———- +-———- Fo———- +-———- o +-———- +-————- +

|[BangD|PaKis |IND |Phili |China |Thai [Malay|Tiwan |SKrea|JP |

Fom——- - +o-—-- - - - - Fomm - - Fomm- +

|0.294(0.280410.334|0.4212|0.4148|0.3852|0.448]0.3108(0.274|0.2736/|

+-———- +o————- - e +o———- +o———- +o———- +o————- +-———- +-————- +
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SKR

O 4.18 Logistic curve of
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goo

poly0
poly_exam
line fit_poly0

gooond

mk.dummy
mk.dummyL2

gooogon
goo

logis

gooogon

newton
newton fit

googon

mk.dougaku
hautakker
hau.takker2

googd

logit_1
logit_2
reg_logit
estimlogit
plot_logit
plotlogit2

goog

jini_sub
calc_jini




|:|5|:|

ooooogogoon

JOODODO0O0OO00O0oO0DO00ooOO0oo0ooOo0ooooooooooooo
goboobogoboobbooboooboobbooboooboon
gboboobooobooboboobbuoobbooboooboo

5.1 I 0000 -Moving Average

000000000000 00 Poyntind1l884) 000000
51.1 JO0O0OO0Ond

JOOOoOoOoooOoooooooooooooooo
mav=: +/\ % [

ooo

mav=: (# %~ +/)\

oo0ooogooo

googo

JO infixO\) 0O ODOOO0ODOD0O0O000Ox00000D0OD000o0o0o0ooooooo
goooobogoo

Ooooo 020000000

3<\ 67.20
6 3 19 15 10 14

3000000 DO300000000000o0oo0

3<\ 67.20
+-——--- F-—mm - T o +
[6 3 19|13 19 1519 15 10|15 10 14|
F-—mm-- Fommm - Fommmm - Fommmm - +

gboog boooboobbooboboooboooon

117
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050 00000000000

3(+/%#)\ 67.20
9.33333 12.3333 14.6667 13

mav 3 mav 67.20
9.33333 12.3333 14.6667 13

2 0000000
mJO000 4/ )y
3< 10000000 3000 BoxO

goo
00000,0000000000X00000000,0000000000000
gboboodbbodtOmavcdgnogoooobboobbooboonoban

mav=:+/\ % [
mav_c=: 2&mav@mav ‘ mav @. (2&|@[) O NB.centred MA

s=.107.20 0

a, (2mav a),: 2 mav_c a

6 3 19 15 10 14 0 7 12 17
4.5 11 17 12.5 12 7 3.59.514.5 0
0 7.75 14 14.75 12.25 9.5 5.25 6.5 12 O

12000000
mavi20 mavO O OOOOOO00O00OODOOCOCOOOOO00OO0OO

mav=: +/\ % [

NB. Season adjustment using 12 month

mavl2=: [: 2&mav 12&mav

2<\ 12 mav i. 24
R o o o o Fom Fom— +
[5.5 6.5|/6.5 7.5]7.5 8.5/8.5 9.5]/9.5 10.5]10.5 11.5]|11.5 12.5]|

o o o o o e o +

mavl2 i. 24
6789 10 11 12 13 14 15 16 17
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1
12000000 130000000000000 EDDDDDDDDD

1
(51111111111%)DDDDDDDDDDDDDDDD
512 O0O0O0O0O0O
godoooooboboboooboo
m DATA Stock price of IBM NY and London market

DN50=: ".@> readcsv DIRCSV,’ibmnyln.csv’

300b0oboon

goooooooooooooo0dtyUU U ¢
Q2+ Q1+ Q Qt—1+Qt+Qt+l+ Qt + Q1 + Q2
3 3 3

2 3 2 1
Q2+ §Qt—l + §Qt + §Qt+l + 5Qt+2

= 5l12321]
O000oo000oooooooooooboooooooooooboooooooooo
O00ooooooooooon

ROl O

g
003000000000,0000000D000000DO0O00O0O0O00O0O00O

1 1 + +
Qt+1 ; 75(52;:;_) § (Qt Qt;l Qt+2)
Qt+1 = QX
2 2 + + 1 + +
Q2 = 22:3 - 5 (Qt Qt+31 Qt+2) n 5 (Qt Qt+31 Qt+2)
Qt+2 = T

cplmavw3D 0000000 00plotw3 0 cplmavw3D 0O 000,
plot |: a,. cpl_mavw3 a=. {.]|: DN5O®

5.1.3 Spencerd g

O00000000O0oooooooo uS.000oooooo X10o0o0o0o0o000d
goooobogobooboobbooobooobuoobboobooobooooboooo
gbobooboooboo

gbooooboobobooboooboo

%[—3 3 4 3 -3]
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050 00000000000

34l .
|y by Ly L |
o 50 00 150 200 250

0O 5.1 Stock Price of IBM NY MarkétWMAV 3r

[1 11 1 1]
|3 3 4 3 -3]

Dl RA RO

|3 3 4 3 -3]

O000Oooooooooooooooo [? 17
21

74 67 46
= 3501 = 350 227 3203 7 330
3 -8 B -3

8:4 = 350 %5 = 3206~ 320 %7 T 320

Spencel 0000000 ODO 150000000000000000000O000O0O0
oooogo
plot_spencer {.|: DN50

Script

spencer2=: 3 : 0

WEIGHT=: _3 _6 _5 3 21 46 67 74 67 46 21 3 _5 _6 _3 % 320
y,. ; WEIGHT +/ . * (L:0) 15<\ C (7 # {.),] ,7 #{) vy

)

C.Reiter0 0000000 TacitOO O OOO

NB.
NB. C.Reiter Fractals Visuarization and J (2nd Edition 2000)
NB.
wts=: (].,}.) 74 67 46 21 3 _5 _6 _3%320
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34— |
T S T T M N SO SO N N |
0 50 100 150 200 250

0 5.2 Stock Price of IBM NY MarkégSpencer

locspen=: (+/ . *)&wts
spencer=: 15"_ locspen\ (7: # {.),] ,7:#{:

514 0JU00O0O0OOOOOO

Hendersotd 0000 US.000000000 X-11,X-12000000000000
00000000000000000000000OTrendeycle(TCROOOO (SDOOO
00 ()00000000000000TCO0000000000000000000

goog

H'(B) = 200/ h"B, =041 2, 2(n-1)/2

B,0000O0O0ODOODODOOODOOODOOO
B is B(back) F is F(Foward)
K"0000 m=(n+3)/2

h — 315(M - 1)? - i%)(m? - i%)((m+ 1)? — i%)((3? - 16) - 11i?)

8m(m? — 1)(4n® — 1)(4m? — 9)(4n® — 25)
5000000

21 84 160 84 _ 21
HOMB)=-——B*+ —B+_-— +—F - —F?
(B)=-286" " 286" 286 " 286 286
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gooogoo

42 42 . 210 295 210_ 42 42
HOB)= ——B®+ —B?°+ —B+—-—+—F+ —F2—- —F3
B) =B+ o 7B T 7 T T 7is

Spencef] Hendersor 000 0000000000000 0OO0OOOOOOOOO
O0OOUOHendersol OO0 000000000 COOOU0OO0OO0ODOOOOOOOOUOSpencer
O00O0OO0OHendersom 000 0000000000000 O00O0OD00OO0OOO0OOOOO
O0ooooooooooon

plot_henderson {.|: DN50

15 plot_henderson2 {.|:DN50 NB. spencer and henderson

15 plot_comb_all {.|:DN50 NB. combination all

34 -
T T T T Y T Y MY S N N |
0 50 100 150 200 250

O 5.3 Stock Price of IBM NY Market Spencer,Henderson

IBM Stock Price of NY MarkeD OO OO O0OO0OO O OO Spencefl Hendersord O O
O0000 plot0 000000000000 OO0Ohenderso 00000000000
ogoooooon

O0000000000000000000000000000000000henderson
0000000000000 0o0oU0duoooooooog (ConcerbativepoOoooOOd
Oooooooooooon

Script
O000000oo0oooooon [?10 henderso 000000000000 OOOCOO
0000000 Spencel D0 O0OODDOODOOOO
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oo

HEN

00 henderson=:4 :

NB. Usage: e.g.

0

wt=: x hnwgt i:-:<:x
x (+/ . ®&wt\((<.@-:x)#{.y),y, (<.@-:x)#{:y

)

hnwgt=:4 : 0

m=: -: x +3 NB. (n+3)/2

nm=: 315%*(((m-1)"2)-*:y)*((m"2)-*:y)*(((m+1) "2)-*:y)*(((3**:m)-16)-11%*

15&henderson y //or 7 henderson y

hi=:nm%8*m*((m"2)-1)*((4**:m)-1)*((4**:m)-9)*((4**:m)-25)

)

5.15 00000 PLOT

gboobooboooboobbooboooboobobooboo.
000000000000000000000 plot00O
goooobooboboobbooboooboboobobooboo

plot. wmav weighted mav plotwmav n

plot- maw2 12 months mav plot mav1l2 n

plot_mavi2cpl 12 months mav plot.mavi12cpl n

plotwl3 13 weighted mav and plotwl3 n
mavi12cpl

plot_spencer spencer plot.spencer n

plot_henderson

henderson 15

plothenderson n

plot_hendersof

hendersond O O O
andO spencer

m. plothenderson2 n

plot_comhall

hendersort OO 0O O
and spencer ,mav12c

m. plotcomhall n
lhendersod D 0 00O OO0
31330 000000o000od
0oooodooooooooo
goooooooooono

'y)
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050 00000000000

5.2IDDDDD

521 0O0O0OOO

goodooobooooobooobooooooooboooooouooooooa
00000 O<xw<1lOO0OODOODOODODODODODOOOOOODOOOODOOODOOD
O0o00dooobooooooooooooooboooooooooobooooooooo
goooooooad

X1T =X
Xo© = WX~ + (1 - W)X
X3~ = WX~ + (1= W)Xz = W2Xg + W(L — W)Xz + (1 — W)Xz

m Working Example DATAiIsDN120 NB.OOOOOOO 2000000

054 D00ODO0O0OCOOOOOO

Script

NB. written by Giichiro Suzuki
smexp=:4 : 0

s=. {.y=. y

while. 1<#y do.
s=.s,(x *{:s)+(1-x )*{.y=.}.y
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DN12,. 0.2 smexp DN12

DN12 estim 7.6 7.12279
———————————————— 1.8 2.86456
3.4 3.4 3.3 3.21291
5.5 5.08 1.7 2.00258
7.7 7.176 2.6 2.48052
10.2 9.5952 6.6 5.7761
8.5 8.71904 10.3 9.39522
7.6 7.82381 9.4 9.39904
10.1 9.64476 7.2 7.63981
11.5 11.129 8.8 8.56796
6.9 7.74579 160.2 9.87359
2 3.14916 10.7 10.5347
2.3 2.46983 10.8 10.7469
5.9 5.21397

end.
)

522 000020000000

Holt's two-parameter double exponential smoothing model
HoltO 20 0000000000000 000O0OO0O0OO oUOOOBUOOOO
Si=aVi+(1-a)(S1+bt-1)

bt = B(S1— St-1) + (1 - B)br1

Fizm = S1+ bim

Starting base

a = level smoothing constant
S; = smoothed at end of period t Y1
B = trend smoothing constant
b; = smoothed trend in period t (Y2=Y1+Ys—Y3)/2
m = forecast horizon

a,p000000000D0D0COCDO0O00e=02p=060000000000000
gboooobogoboobobooboooboobobuoobobooobog
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(2) Smoothed Level
(3) Smoothed Trend

60—

0O 5.5 holt’s 2 parameter trend model

ooboooboogn

0000000000000 0000000000D00O00000 0.050000 00
gobogobooooboooboobboobooooboobobooboooboooboo
0000000000000000000M000000000000000)

0.2 0.8 holt_loop DN54

0.2 0.45 2.46177
0.15 0.7 2.41542
0.2 0.5 2.39981
0.15 0.75 2.37576
0.2 0.55 2.35378
0.15 0.8 2.34396

0.2 0.6 2.3198
0.2 0.65 2.29505
0.2 0.7 2.27745
0.2 0.75 2.26552
0.2 0.8 2.25821 00 NB. minimum residual
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@=024=08000000

0.2 0.8 holt DN54

data smoothed smoothed fitted

level trend

63 63
64 62.8

_0.5 0
_0.26 62.5

66 63.232 0.2936 62.54
64 63.6205 0.369504 63.5256

68 64.792 1.
70 66.6425 1.

01111 63.99
68261 65.8031

67 68.0601 1.4706 68.3251

69 69.4245
74 71.4482
72 73.0754
73 74.4051
78 76.244
77 77.7962
80 79.5105

e e e =

38569 69.5307
89606 70.8102
68098 73.3442
39996 74.7564
75115 75.8051
59192 77.9952
68983 79.3881

83
81
86
88
85
87
92
95
93
97
99
96
102
101
103
105

plot ® 1 3{ |: }. 0.2 0.8 holt DN54

81.5602
83.0304
84.8817
86.9416
88.1589
89.0273
90.3977
92.3503
93.9364
95.8554
97.9738
99.2327
100.923
102.247
103.507
104.834

1.97778 81.2003
1.5717 83.538

.79536 84.6021
.00703 86.6771
.37525 88.9487
.969777 89.5342
.29024 89.9971
.82017 91.6879
.63288 94.1705
.8618 95.5693
.06704 97.7172
.42051 100.041
.636  100.653
.38663 102.559
.28528 103.633
.31855 104.792

R R R R R N R R R PR @ R N -

ooooo smexp m smexp n
Holt D0 OO OO | holt my mp holt n
agood

hol_loop holt_loop n
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5.3 I 0000 -Seasonal Adjustment

doooooooooooooooooooooooooooooooooooog
0on

Pindyck and Rubinfeld] Econometric models and Forcast(19e8) 0 0 0 0 0 O OO
ogooooooooooo

Seasonal adjustment techniques are basically ad hoc methods of computing seasonal in-
dices.

National economic data in the United States usually are seasonal adjusted by the Census
Il method,which was developed by the Bureau of the Census of the U.S.Departmrnt of Com-
merce.

The Census Il method is a rather detailed and complicated procedure (and is amazingly ad
hoc),

0000000000000 D00 X1200000000000000oooooo
gobodooobdooobooooudoooonoooonog

Pindic & Rubinfeld0 D 0D O 0O0O0O0O0O0O0000O00OO

Additive Y =L+ S+ C +

Multiplicative Y = Lx Sx C x |

L value of the long-term secular trend in series

S value of seasonal component

C (long term) cyclical component

| irregular component

000 SO0D0D0oDooooooooooooonD Lxcoood

1
y:l_z(yt+6+"'yt+yt—l+"'yt—5)
000000000 LxCOoooo Sxlopooooad

LxSxCxI Y
LxC _SXI_‘y_Z'
loooad

A

1
7 = Z(Zl + 213 + Zo5 + Z37)

1
= Z(Zz + Z14 + Zo6 + Z3g)

" 1
21 = 4_1(212 + 204+ Z3p + Z4g)
trend and cyclical(TC) components are estimated using moving averages

531 000O0OO

Working Example
DeLurgioO BIGQTROOOOOOOUOOOOOOOODODOODOOOOOOOOOOO
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O0o00oOoTCeODOOOOOODODDOOOODOOOOODODO TOOOODOOOOOO

googo

000000000000 000 SO0oooooooooooooooog

Year Quarter Sales
1 1 72
1 2 110
1 3 117
1 4 172
2 1 76
2 2 112
2 3 130
2 4 194
3 1 78
3 2 119
3 3 128
3 4 201
4 1 81
4 2 134
4 3 141
4 4 216

goooobogood

adj_4season_sub DN41

adj_4season DN41

Y deseasonal Trend

Predict

72
110
117
172

76
112
130
194

78
119
128
201

81
134
141
216

adj_4season DN41

118.751
119.686
117.929
116.02
125.348
121.863
131.032
130.86
128.646
129.479
129.016
135.582
133.594
145.8
142.12
145.7

0.606313 0.919069 0.992121 1.4825

115.
117.
119.
.118
122.
124.
126.
128.
130.
132.
134.
135.

121

554
409
264

973
828
682
537
392
246
101
955

137.81

139.
141.
143.

665
519
374

0000000000000 deseasondl 000000

Deseasonal 00000000000 ODO TrendDOODOO00O0OOOOO0OOOOOO

goooobogoo

gbooboobogoboobboobbooobooboboobbooboooboon

gboogooboobood

plot |: O 3{"1 adj_4season DN41

70.0621

107.
118.
179.

907
324
558

74.5601

114.
125.
190.

725
684
556

79.0581

121.
133.
201.

83.
128.
140.
.552

212

543
044
554
556
361
404
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60— _

056 OO00OOO0O TCe

mav.c oooboobobooboooon | m. maven.
googgo

adj 4season 00000000000000 | adi4seasonn

adj 4seasorsub Best Fitting

Script

adj_4season_sub=: 3 : 0

NB. find season_index

TMP1=.(2}._2}. y) ,. 4&mav_c YO0=: (-4|#y)}. vy
SEASON®=. 2|. "1 >_4<\ %/"1 TMP1

SEASON1=. +/ SEASON® % (# TMP1) % 4

SEASON1 * 4 % +/ SEASON1

)

adj_4season=: 3 : 0

NB. using mav_c and reg0

Y0=. (-4[#y)}. vy

SEASON=. adj_season_sub YO

TMPO=. YO, .;(_4<\Y®) % L:0 SEASON NB. const data

f=. reg® {:"1 TMPO® NB. reg /find ternd

TMP1=. TMPO,. (1,.>: i. # TMP®) +/ . * £ NB. reg_t use >: i. # y
TMP1,. ;SEASON * (L:0) _4<\ 2{"1 TMP1

)
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Working Example GDP(1994-2007 Real)] deseasonalize

LSCIOO SOO0O0O0 LClooOoooo deseason 000000000000 TOO
000 TOOOOClOODDOOOTO SO0O0O0O0OO0ooOoO fitedoOOD

0000 deseason(red) 000000 (green)dJ D000

(1994 1) plot4season GDP

140000)

135000)

135000~

130000)

130000

1250001

115000

110000, —
110000 — | | | | | | | | | | |

O 5.8 GDP(reakblue sdeseasemed

0 5.7 GDP(Japan 1994-2007 real) wma3=green

5.3.2 12 00O deseason

oo oogooooobbooobobobo
goo

googgo

l20000000000000000O0CO0O0O0O0O0oDOOOn.
gdooobooooooboboooooooboboooooboomWobobooooooo
000ddoooooboboboobobooooodddddoooooooooooooo
ooodoooooboboboboobobbobobobbodddddooooooooooooono
ggoooooooon

Working Example Delurgio Seriesf

DelurgioO seriesf0 000 (DN55)0 0000000000

5j2 ": (Tl % TO)

1.21 1.15 1.62 0.95 0.90 0.81 0.84 0.93 0.95 1.02 1.09 1.14
1.20 1.10 1.04 0.95 0.88 0.82 0.91 0.96 1.02 1.63 1.12 1.14
1.10 1.06 0.96 0.89 0.83 0.91 0.94 0.95 1.03 1.85 1.12 1.19

5j2 ": (+/%#) (T1 % T®) NB. sum each month
1.17 1.10 1.01 0.93 0.87 0.85 0.89 ©.95 1.600 1.04 1.11 1.15
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+/ (+/%#) (T1 % TO) NB. sum whole year
12.0701

12% +/ (+/%#) (T1 % TO)NB. adjust to 12
0.994196

5j2 ": 6]. tmp* 12% +/ (+/%#) (T1 % TO) NB. rotate 6
0.89 0.94 ©.99 1.63 1.11 1.15 1.17 1.10 1.00 0.93 0.86 0.84

5j2 ": saj DN55
0.89 0.94 ©.99 1.603 1.11 1.15 1.17 1.10 1.00 0.93 0.86 0.84

533 TrendD0OOO0O0ODOOO

000000 QUUO0D000000000000000oooooooooooon
00000 TrendDO0O0O0O00O0O0O0OO0OOOFittedValueDOOOOOO

12{. adj_season DN55
data deseason trend fitted
546 631.847 661.704 571.801
578 615.624 668.9 628.021
660 676.391 676.096 659.712
707 692.655 683.292 697.443
738 670.808 690.488 759.651
781 691.507 697.683 787.975
848 707.979 704.879 844.287
818 732.673 712.075 795.003
729 714.054 719.271 734.325
691 731.976 726.466 685.798
658 747.319 733.662 645.976
604 744.527 740.858 601.024
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1.05— _

0.9}— —

08— —
| | | | | |
0 Z 7 6 8 10

059 000000

1100

1000

700

600

| | | | | | | | | |
0 5 10 15 20 25 30 35 40 25

0 5.10 TrendTredCyclee
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Working Example
O000000000o0o0000O0Ogl19972-20071) 0 deseason
Ooodooobooooobooaa

(1997 2) plot_season ;{."1 DP

13000 -
12000 — —
11000 — | —

10000 (— —

NI |
| “‘, - g"\ AL o ‘ AL v RARL Sy TR ~ 7
| ,‘\;‘s\;’[\ I AL
7 TApie I LA ) 7
J. {k ‘u‘\’,'/' Ay s A
VS fidh / \
V “ < ’ /. i \\\“‘

7000{—
6000{—

o | | | | | | | | | L]
1997 1998 1999 2000 2001 2002 2003 2004 2005 2006 2007

—— data —— deseason —— trend — fitted

0 5.11 deseason red,Tred= green

saj=:3 : 0

NB. using whole manths to calc

NB. last update 31 July 2007

NB. Season Adjusument using Moving Average

NB. Usage: saj y //y 1is data ( ex 5 years=60 months)
TO=: (TMPl=:(<.(>: # TMPO)%12 ) , 12) $ TMPO=: mavl2 y
Tl=: TMP1 $ 6}. _6}. ¥y

6 |. T3* 12 % +/ T3=:(+/%#) T1%TO

)

adj_season=: 3 : 0

NB. 12 season data //using centered moving average

YO=. (-(12| #y )) }. yv NB. drop out of 4 times from last //if 0O drop nothing
S40=.( 6}. _6}. Y®),. mavl2 YO

S41=. 6]."1 >_12<\ %/ "1 S40 NB. _4 non overlap,2|. is rotate

S42=.+/ S41 % ({. $ S40) % 12

SEASON=:S42 * 12 %(+/ S42) NB. Sasonal
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S44=:Y0,. ,> (_12 <\ YO) % L:0 SEASON NB. Deseasolized: TCe
f=: (;{:"1 S44) %. X=.1 ,. >: i. # S44 NB. f with OLS

TREND=: X +/ . * £

S44 , .TREND,.; (_12<\TREND)* L:0 SEASON NB. trend

)

oooo

Stepaen A. Delurgio Forcasting Principles and Applications McGraw-Hill 1998

Gareth Janacek Practical Time series Arnord 2001

R.S.Pingyck D.L.Rubinfeld Economic Models and Economic Forcasts (4th.edition)
McGraw-Hill 1998

C.Reiter [Fractal Visualization ans J 2nd ed.]

O000000000000ooooooooon 1996

54 I Ooddno
mav Moving Average m mav n
mav.c Centred mav m mav.c n

auto classified

mawl2 12 month mav mavl2 n
centred
spencer spencer’s 15 point moving average| spencer n
henderson henderson n point moving average| m (O O) hender-
sonn

googooood
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plot maw2 12 months mav plot mav1l2 n

plot_mavi2cpl 12 months mav plot.mavi12cpl n

plot w13 13 weighted mav and plot w13 n
mavi12cpl

plot_spencer spencer plot_spencer n

plot_henderson

henderson 15!

plot_henderson n

plot_hendersof

hendersond O O O
and spencer

m. plothenderson2 n

plot_.comhall

hendersoru 0 0O 0O O
and spencer ,mavl12cy

m. plotcomhall n
lhendersod OO0 O OOO0O0O
31330 000000o0ooa
Odoodoooooooooa
gooooooooooo
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saj 00000000 O | san.(List)
0 .whole months
saj2 000000000400 saj2n.(List),usualy using saj2
last 3 years
adj_season O000oOoOooooooo | adiseason n.(List)
0 Best Fittingd O O
adj_seaso@ 000000000000 | adjiseason2 n.(List),usualy using
0 Best Fittingd O O .saj2 | adj.season2
plot.adj_season
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p value, 53
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oooooooo, 67,68
0000, 117-119, 123,128, 131

AIC, 19,21,71,72,76, 77
X-10, 119
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oooooo, 119
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oooooo, 128,131, 132,137
0ooo,o9, 14,19, 20, 39
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00000,43,44,67,129, 132
oooo, 25,41
000,10, 16

ooooo, 19,34
oooo,9, 13,19
oooo, 89

00000, 124,125,127
0oooo, 34,35
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ooooooooooooooo, 119
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oooo, 39
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ooo, 118
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ooooog, 78

Newton, 86—88

ooooo, 87
00O, 32, 33,38,40

0o0ooo, 34,101, 104
ooooooo,36,37,41
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Henderson, 122

oooooo, 30,31
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